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PART—I / «\ri—I
CHILD DEVELOPMENT AND PEDAGOGY |/ =Tt farrrar 3t firen-vmer

Directions : Answer the following questions | fAd9r : f=fefaa al & W 7 & forw @& /o=@

by selecting the correct/most appropriate | Iug® ferehea gﬁql
options.

1. IR & S 9 ¥ affer I s < ST @

1. The development from central part of

the body towards peripheries or
extremities denotes the—

(1) principles of radiated development

(2) principles of decentralized develop-
ment

(3) principles of proximodistal develop-
ment

(4) principles of cascade development

. School is an institution of socialization
of children where—

(1) schoolchildren occupy the central
position

(2) school routines occupy the central
position

(3) school activities occupy the central
position

(4) schoolteachers occupy the central

position

. If you join a teacher fraternity and
choose to dress like most of the others
in your group, you are exhibiting—
(1) group identity

(2) obedience

(3) compliance

(4) conformity

P-11/M

forepra Twriar 2—

(1) fafsrofia fomrra % frgrat 1
(2) Toehsligra feema & fagial =t
(3) me-aer fosbr & fargiat A1

(4) W T & frgrdi =

. TEA S % WA Gl UH UE wen

& STEl—

(@) T9E UM Tgel S B a8

(2) 3 T TR i fe=at @1 g @
(3) g TIH TR i TfdfafeEt S ar &

(4) THE TIH TR % et w5 2 3

. V9 A TH fad wE ¥ g2 9 8 SR o

TR % T AN Wl & W IR RO A
o 2, 1 2119 YeT 9 @ i E—

(1) Hqg < 9g=H &
(2) WHYE SATITHINAT 1
(3) wpe fFrdw-srgmer w1

(4) HHE I IFTEIA T



4. The concept of object permanence is 4. et IE] % TTed i Srgumen T %

attained during Piaget’s stage of fywE & =0T | 919 2 Sdl 2
development.
(1) Geret-TToeh
(1) sensorimotor
. (2) -
(2) preoperational
(3) concrete operational (3) rgf
(4) AR TR

(4) formal operational

5. Individualized Education Programme is 5. oAftrd il wrfsn # AN % Hed o

planned from the perspective of— EEIRIESI I

(1) Special Education Programme (1) forry farem wrisen

(2) Child-centered Education (2) STA-hisa frer wriswn
Programme

(3) g formerdt e wrfww

(3) Open School Education Programme

(4) E-=Aterm f31em wEiEa

(4) e-Learning Education Programme

6. wEE A * o9 Al S=
O e e it wicie B [ (A e g e 3 e
short sentences while speaking. FET R
(1) 12 and 18 (1) 12% 18
(2) 18 and 24 (2) 18 ¥ 24
(3) 24 and 30 (3) 24 % 30
(4) 30 and 36 (4) 30 % 36

7. The concept of Intelligence Quotient = B
or IQ was developed by— 7. el A AMFo Fo i JFERON & TS off

(1) Galton (1) A % gw
(2) Binet (2) fort % gm
(3) Stern (3) T = g
(4) Terman (4) T % T

P-11/M el [ PTO



8. Creativity is thought to be related to

10.

11.

the concept of—

(1) fluid intelligence

(2) crystallized intelligence
(3) convergent thinking

(4) divergent thinking

. The acceptable sound combinations of

a language are specified in its
rules.

(1) phonological

(2) grammatical

(3) syntactic

(4) inflection

The position where thought patterns
are influenced by language is called—
(1) cultural tendency

(2) linguistic determination

(3) cognitive bias

(4) sociolinguistic genesis

Ravi repairs appliances by testing
hypothesis about the cause of the

malfunction based on his experiences
with the symptoms. He uses—

(1) insight
(2) algorithms
(3) mental set

(4) heuristics

P-11/M

10.

11.

. GSHTCHSbAT N SFFURON H HEfA

HHET ST 2

(1) == sifgear
(2) T@ER Sifgahd
(3) wifirga Hr=
(4) Tafag =

. Foreht e % wefiepd eafy GEISEl B g

faermt & fafa sram ST 2

(1) eaf-vaeft

(2) =ATRIOTeR

(3) dTRITHS

(4) Taafe-fowres

S " < afsear TRt s grr gt B
B, 1t feafa i e E—

(1) s fa e

(2) wm fif

(3) HIHICH u&

(4) TETTR- STt 338

JUA ST 3R TR F YR W IUHN [

TS % BRIl qReheTTT T e I
IUSHOT hl T AT & | I8 IUANT Hdl 8—

(1) sragfe =

(2) FHem-fafer =

(3) T e
(4) srget fafer =



12.

13.

14.

15.

Divya often divides the assigned job
into small tasks which she can handle
easily. She is using—

(1) reductionism
(2) secondary elaboration
(3) subgoal analysis

(4) functional fixedness

the
This

roles of
statement

“Society determines
male and female.”
articulates—

(1) gender as an inherent construct
(2) gender as a hereditary endowment
(3) gender as an intuitive construct
(4) gender as a social construct
Grading, coding, marking and credit

accumulation systems are some of the
examples of—

(1) evaluation procedure of answer
sheets of the examination

(2) symbolizing position of children in
the class

(3) depicting the academic progress in
report card

(4) scoring procedure of assessment of
learners’ achievement

Assessment of learners’ achievement
helps the teachers to—

(1) maintain the performance record of
learners

(2) evaluate the effectiveness of

pedagogy

(3) make ability grouping of learners in
the classrooms

(4) prepare activity log for teaching

P-11/M

12.

13.

14.

15.

feem st Fifim wm@t @ sR-vR e
T fouifo ot SEE a9 Wdl @) a9 ITEm
FA B—

(1) 9 A 6 fafer =

(2) Tacdaes foramor fafer =0

(3) 3uciex fagermon fafer =

(4) Terarmenes Stear femees fafyr =6

“gey 3R mfgen At qfterret w1 fFufor wwr

FA1 217 T8 HAT o g foh—

(1) iffepar e sfafifea s g

(2) <ifiterar ush srgafye gl

(3) TifireRdT U Al T &

(4) SffTheT Teh THTS ST

_ F IO [

(1) "Sfjen % ITR-TAT o oA i Tl

(2) et ° st ot feata 6t e fafe

(3) %ﬁﬁ—w(ﬁﬁéwﬁ)ﬁwﬁsﬁwﬁﬁ

(4) ftpmepate @i Uy & heH
o -farfer

STRATHRATT hl ITATSH T ATeha TeThl i
FERAT AT B—
(1) AfermeRatet & Jevi o1 fepie W o

(2) Toreor-srferm faferdi &t gwmasfierar =
oo A |

(3) wemadi H AfermHeRdiel % udl T
ECiCR:

(@) foreron ¥ for mRaafrRt 6 g o A

I PTO



16.

17.

18.

Inclusive Education is based on the
principle of—

(1) social equilibrium

(2) equity and equal opportunities

(3) social existence and globalization

(4) world brotherhood

The Rights of Persons with Disabilities

Act has been enacted in the year—

(1) 1992

(2) 1995

(3) 1999

(4) 2016

Children with individual differences

should be taught in a school having
teachers—

(1) to teach in different sections of
classrooms based on their
individual differences

(2) trained to use different pedagogy to
meet their diverse learning needs

(3) trained to teach children with
specific individual differences

(4) trained to make them homo-

geneous learners

P-11/M

16.

17.

18.

TRt e o foga W snanha g1
(1) TS Hger

(2) THAT U UM T

(3) T 3tfEdea ua Sveertor

(4) Toma sgar

feoamem aifter. afufem o @ @
fopam e 2

(1) 1992

(2) 1995

(3)/'1999

4016

fehTa fafagarsti arel s=ii 1 9gH * g TH
forame g =feT St Riars—

(1) =afmra fafqadrst & emarR ® afiga
TE henedl o fafie ot o uer weh

(2) fafay siferm smeverarstt & sgar fafim
foreur-afepm gfafemt w1 v @ H®
fwrfara &

(3) Tafsre =afera fafaeaett st s=0 1 ge™
% foru ufsrfera &

(4) I=Ai H THEY erERAl AW W
yf¥rfera &



19.

The Right of Children to Free and
Compulsory Education Act, 2009
ensures the rights of children with
disabilities to free education from—

(1) 6 years to 18 years
(2) 3 years to 18 years
(3) 6 years to 14 years

(4) 6 years to 22 years

20. Providing teaching-learning materials
in accessible formats to the diverse
learners implies—

(1) Universal Inclusive Education
Ethical Considerate

(2) Universal Code of Teaching
Practices

(3) Universal Humanistic Approach of
Teaching

(4) Universal Design of Learning

21. involves self-awareness amnd
control of cognitive abilities, e.g,
planning, reviewing and revising, etc.
(1) Centration
(2) Metacognition
(3) Cognition
(4) Accommodation

22. When children think to interpret the
received information according to their
experiences, it is called—

(1) reflective thinking

(2) creative thinking

(3) abstract thinking

(4) concrete thinking
P-11/M

19.

20.

21.

22.

e wa A ara e AR sAtafEm,
2009 Tz a=i #t Frges e & afted

! gifeaa ar a—

(1) 698 @ 18 a9 d% & oIy

(2) 3ad @ 18 = @ & forw

(3) 6 a9 ¥ 14 a9 % & fou

(4) 6 a9 ¥ 22 a¥ d% & fou

fafay iftpmeratett & fou gm w@Edi
Tregur-srform iRt wem w @ ared
B

(1) wresiifies Tmasft frem & Afae fomm

(2) Toreror sraEReRar it ardifies d@fea

(3) freaor & wrddifies THeETd gfeenio

(4) srferm <t wrEifie T

ESeehdl Ud GYMIcHE A o1 ==,
IO =TT ST, HHET AT T G BT
Fife . H sfqMted 2l

(1) sertor

(2) EFHeY

(3) &=

(4) THESE

S S U T g i AT FA ok
fu o199 TgwEl & SMYR W ded §, a1 39
_____ g v gl

(1) wfcfsrmaTe =

(2) GSHTHS |

(3) wrmd @

(4) 7d &=

I PTO



23.

24.

25.

26.

Teaching learners at varying levels of
difficulty based on the ability of
individual learner is known as—

(1) differentiated instruction

(2) selective instruction

(3) precision teaching

(4) errorless instruction

Maintenance is the specific stage of
learning which is antecedent to

stage of learning.

(1) acquisition

(2) motivation

(3) independent

(4) generalization

Zajonc believes that cognition and
emotion are—

(1) interdependent

(2) independent

(3) interrelated

(4) integrated

A teacher is teaching children by
demonstration of a task to correct the
performances of an already learned
task. He is wusing method of
teaching.

(1) imitation

(2) observation

(3) correction

(4) modelling

P-11/M

23.

24.

25.

26.

STRATHRATST hl AR &THAT o TR T 390
il o fafi & 1 & #§ Td g 9eH
=1 fafer = el SaT B

(1) foreet srgeem
(2) =R I
(3) wte farer

(4) I e

gttt 1fer w1 ues fafte =wo 2, S s
* =T T gEad Bl

(1) sAferen
(2) Afrge
(3) sterfsiTar
(4) @i

SiSlieh o1 I AT ¢ foh O399 3 v
e

(1) T==ata
(2) A
(3) sTadafed

(4) A

Ted ¥ W@ g #El § gUR @M % fou
Trerer =l 1 Yeg T diEn @1 2| 98 R
el farfer =1 v = @ R

(1) g
(2) STerCAHA
(3) TENed

(4) wfasTo



27. According to Mann and Janis, decision

28.

29.

30.

maker children analyze the problem,
list the alternatives and weigh each
option for its advantages and
disadvantages. His behaviour reflects—
(1) surveillance

(2) vigilant

(3) outgoing

(4) autocratic

In thinking, a child as a problem
solver evaluates the truth or likelihood
of statements.

(1) creative

(2) aesthetic

(3) abstract

(4) logical

The task in which the children get
experience while enjoying themselves
is known as—

(1) drill and practice task

(2) consumer type task

(3) producer type task

(4) problem type task

Multisensory approach in teaching-
learning is the simultaneous use of
visual, auditory, tactile and
senses to enhance learning.

(1) kinesthetic

(2) vestibular

(3) perceptual

(4) observational

P-11/M

27. B9 I ST

28.

29.

30.

% IfgEr, ol o a S
e 1 et wd €, faskedt i g s
F 3 3% ®ER 3R JHEH F T UEd W
o =d €| 3UeR AR TEgd Al e—

(1) <

(2) T

(3) e

(4) g

T THE U =T fom & TR W
AT T TS AT HHTEAT BT HoATH T 2 |

(1) YSI-TcHh
(2) wHigdare

e feu MU wE w1 wQ gHT = @ A o
U IS W HA 8, 38 el S 7

(1) feat 3R e &

(2) 3UAIHT TR HT H

(3) frwToTTCHes Yer 1

(4) TEETCHS TR T HE

Tg-Tad Rregur-sAferm it wfaty 4 rfeem-
add 3 o, A, TR R HoEsd
T Teh T T foRAT ST 2

(1) Ticraers

(2) FHui-=hiX

(3) TcaefieRtor

(4) STl

I PTO



IMPORTANT
Question Nos. 31 to 90 Either from Part—II
(Mathematics
Part—III (Social Studies / Social Science).

Candidates have to do

and Science) Or from

TETYUT : TR i T S 31 § 90 AT Al
qET—II (7o iR fagm) o wm—I11 (|mnfSies
I | ATk o) | R 2

Directions :

PART—II / wrT—II
MATHEMATICS AND SCIENCE / 7ifura 3R fogm

Answer the following questions

by selecting the correct/most appropriate
options.

31.

In a meeting, 24—5 of the members were

female. What percent of the members
was this?

(1) 40%
(2) 24%
(3) 16%
(4) 4%

fAder ;. fFafefaq ot & s 29 & fou @&t /a=w
U foshed g

31.

wmﬁ,wﬁﬁﬁ%nﬁaﬁ%%
He=i o1 foraen fawra em?

(1) 40%

(2) 24%

(3) 16%

(4) 4%

32. TF oM A 0! Fiwdi § 10% H FwHt H |
32. A shop reduced its prices by 10%. Erirma?rq‘s‘aﬁﬂaw% thgoé 7500 ﬁg
What is the new price of an item which et ’
was previously sold for ¥ 500? :
(1) ¥510 (1) ¥510
(2) €550 (2)“¥550
(3) T450 (8)"F450
(4) 400 (4) ¥400
33. Given below is a data set of 33. = AWM (°C H) 1 UH 3 G2 o m R
temperatures (in °C) : 6 -8 -2.3.2.0.5. 4.8
-6, -8, -2,3,2,0,5, 4, 8 221 1 qRET T E?
What is the range of the data? (1) 0°C
(1) 0°C
(2) 16°C
(2) 16 °C
(3) 18 °C
(3) 18 °C
4) 10 °C
(4) 10°C )
SPACE FOR ROUGH WORK / % &M & foru srg
P-11/M 10



34. A coin is tossed 10 times and the 34, Ux fo=m 10 IR IBTe SaT @ I gfonyg 2w

outcomes are observed as : TR HIeAIfRd fohT STTd &
H T,H T, T, H H T, H H H, T,H T, T, H, H, T, H, H
(H is Head; T is Tail) (Hfe@ g, Tw ?)
What is the probability of getting Head? fra wTH = ) G = 27
3
1) 2
s M3
4 5
@ 2 .
2 @ 3
3) =
5 2
ol @) -
(4) = 1
3 (<7) 25 @3
35. The numerical expression — + =—
7 8 56

h that— . . _
S OWS_ & 35. THTHb m§+ﬂ:§ﬁw%%_
(1) rational numbers are closed under 7 8 56

o aoctton N (1) i s A 3 siwta G A &
rational numbers are closed under . i @ .
subtraction (2) T HEAT S qgd ardi @
(3) rational numbers are closed under (8) TG HEATE UM % 3Tqq T Bl &
multiplication (4) iti AT T % st G A 3
(4) rational numbers are closed under
division 86. Fmfafad 3D empfadi # @ forad i =&
7
36. Which one of the following 3D shdpes Ve
does not have a vertex? (1) ferrfere
(1) Pyramid (2) foom
(2) Prism (3) wF
(3) Cone (4) T
(4) Sphere
4 _3 52 5\ (573 5 5x-2
37. If(s) x (5) _ (Sj then xis— | 377 (7) 8 (7) - (j o @ xR
7 7 7
1 2
1 2 (1 - (2) -
1) ¢ @ ¢ 5 5
3 4 3 4
(3) = (4) = (3) = (4) =

SPACE FOR ROUGH WORK / % &M & foru srg

P-11/M 11 [ PTO



38.

39.

40.

41.

42.

Let a, b, ¢ be three rational numbers,
where a=§, b=g and c=_—5. Which
5 3 6
one of the following is true?

(1) ax(b+c)=bx(a+c)
(2) a=(b+c)=b=+(a+c)
(3) a+(b+c)=c+(a+b)

(4) a-(b—c)=c—-(a-b)

A geometric representation, showing
the relationship between a whole and
its part, is—

(1) histogram
(2) pie chart
(3) bar graph
(4) pictograph

If g is the square of a mnatural
number p, then p is—

(1) the square of g

(2) the square root of g
(3) equal to g

(4) greater than g

The value of \/91+\/70+\/121 is—
(1) 9 (2) 10

(3) 11 4) 12

In a park, 784 plants are arranged so
that number of plants in a row is same
as the number of rows. The number of
plants in each row is—

(1) 18 (2) 28

(3) 38 4) 48

38.

39.

40.

41.

42.

e % @, b, ¢ @9 ufEw @@ &, SE©

a=3, b=2 st c= "2 % P # @
5 3 6

FH-T1 T 27

(1) ax(b+c)=bx(a+c)

(2) a=(b+c)=b+(a+c)

(3) a+(b+c)=c+(a+b)

4) a-(b-c)=c—-(a-b)

St feaor, St @ STR 3Eh 3T % i
Tey femman g, 3—

(1) fe=mm
(2) g =
(3) g @
4) FocE

afe q T Treplds @@ p A B, @ p —
(1) g =

(2) g e

8) g & TR

@) g® 5=
JO1+470 + 121 1 7 32—
(1) 9 (2) 10
3) 11 4) 12

Tk Ul H, 784 MY Hafeyd forw Sa @ drfen
ofes ® dielt ot G, Giteal sl §edn % g9 8
2| I Gfes | qiefl s G 2 —

SPACE FOR ROUGH WORK / % &M & foru srg

P-11/M



43. If two quantities x and y vary inversely 43. If 3 TRET x 3 y Q%-{Fﬁ * FcshH &Y b
with each other, then which one of the T2d-9ed g, a fmfafiad § @ #F-91 97 27
following is true?

(1) 3 Hafdd WHI 1 TJIG THAWH &1

(1) Ratio of their corresponding values a1 2|

remains constant.
(2) % TERA AE] H OH THEHH ST
(2) Product of their corresponding T B

values remains constant.
(3) % WUd HET H AN THAAE ST
(3) Summation of their corresponding a2

values remains constant.
, , , (4) 3% A WA H TR THEHAH ST
(4) Difference of their corresponding w2

values remains constant.

44. Given 44. fen g
7y 7y
X6 x6
yyy yyy
Then the value of y is— Ty F A &—
(1) 8 2) 6 (1) 8 (2) 6
(3) 4 (4) 2 3) 4 (4) 2

45. To fill a rectangular tank of area 45. 700 m?2 ST%d F U AFAIHER 3% F W F

2 3 . . C o
700 m ; 140 m* of Water is required. 1T 140 m 3 i e 21 3% # u
What'wﬂl be the height of the water ¥ TR h S = B
level in the tank?
(1) 10 cm (1) 10 cm
(3) 30 cm (3) 30 cm
(4) 40 cm (4) 40 cm
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46. Which one of the following is the most 46. F=fdafaa @ @ qs1 & AN H YA TGH b
suitable strategy to teach the skill of T o Uy wHifa wE-H 27
addition of money? ;
(1) Use of ICT (1) 3 Hio do T
(2) Role play (2) T =t
(3) Use of models (3) Hieet =1 gEm
(4) Doing lots of problems (4) wga ar e 7
47. After teaching the concept of multipli-
cation to her class, a teacher asked her 47. o war o ™ # TN B TEH F a1,
children to multiply 48 by 4. T eash I o S= W 48 F 4 T o 9
One of her students solved it orally I el
as “To multiply 48 by 4, we first -
add 48 to 48, which makes 96 and ﬁ?ﬁﬁﬁ@ﬁsﬁﬁmwﬁw
then add another 96 to reach 192. So, T, 48 i 4 & oM FH % T T wEw 48
the answer is 192”. T 48 Wiied g, &8 96 swar 7 3 fw
What can you say about his/her 96 3T Sied &, af 192 aFdT 2| 30 JhR WM
strategy of multiplication? 192271
(1) The child used a wrong method to .
multiply. He/She has to use the qom T’ﬁ Suehl OAIfd F TR § A H R
place value algorithm to multiply Tehd 87
the numbers. f
(2) He/She has not understood the (1) g? %ﬂgg ;%%ﬁg% R
concept of multiplication. Ty T VeriiREH 1 SR T SR
(3) The given problem is a multipli- o
cation problem and not addition (2) S8 Ul RO T H TE ITE
problem. (@) < TS e uF [on wwen § i A )
(4) He/She understood multiplication T AR 2
as repeated addition. 4G o 2 ST A % v 3
48. Which one of the following should
‘pe takep up as initial ac!:iyity’ in 48. 9= F ‘TE N IR F TR w9 ¥
introducing the concept of ‘“time’ to fru R TR % w7 § fretiead § 9
young learners? F-w 1 e e
(1) Discussing about the  prior o S ]
experiences with phrases related (1) W’@ Heiferd ST o W qe el
to time TR T ==l BT
(2) Teaching children how to read time (2) s=l H wert fh udt # wwy Wl R
in clock &1 ST
(3) Teaching children how to calculate .
elapsed time (3) gﬁeﬁ g 5 i g0 wHA I T
(4) Conversion of time in different o )
units (4) fafer gepreal & THT 1 AT AT
SPACE FOR ROUGH WORK / % &M & foru srg
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49. Which one of the following is not the

50.

purpose of assessment?

A. Monitoring student’s growth
B. Making instructional decision
the

C. Evaluating effectiveness of

curriculum

D. Ranking the children based on
performance

Select the correct answer using the
code given below.

(1) A
(2) D
(3) B
(4) C
Which one of the following methods is

most suitable for teaching mathematics
at upper primary level?

(1) Demonstration method
(2) Lecture method
(3) Activity-based learning

(4) Problem-solving method

49,

50.

Frfafaa # 9 HH-91 qedmeh &l a3 T8 o
B o T &1 FET BT
fdere ot o

UTGIghA h! THTaRiIeTdl ol HoaTeh il

. TIER % STER W Al hl o HET

= few MU g2 1 T R e S g

o 0w »

(3) B

4 C

3= M TR T 0 deH o fou Fefeiad
T | we-o fafer gt eafern sues 27

(1) weziq fafy

(2) rere) fafe
@) Tiafafe-smenfa srferm

(4)(TFw-TmeE e

51. Which one of the following is most 51. 3= HTW TR A sfrm % fau
essential in learning mathematics at Frefafaa 4 @ #F-w1 ge@ ifees sawe 27
upper primary level?

(1) TS THE B FE TR T BT
(1) Solving a problem many times
(2) Exploring different ways of solving ) Gt FE N E T F R
a problem
(3) Memorizing all formulas (3) weft A ki =@ BT
(4) Copying correctly what teacher (4) Toreres o€ W 1 foraan 7, 3uert @l &1 A
writes on the board EEAECECI]
SPACE FOR ROUGH WORK / % &M & foru srg
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52. The strategy of questioning used in the

mathematics class at upper primary
level—

(1) should be discouraged as it
demoralizes the child who is unable
to answer

(2) makes the classroom noisy as the
children would be talking too much

(3) could create stress among children
and may lead them to accept the
teacher’s authority

(4) helps children to express their
thoughts or wunderstanding and
think critically

52. 3= WA T W T i wem H 3T B

Tehl gBATS i WHITd—

(1) = gdicaTed LT AT FAifh I8 39 5=
1 e feardt @ S 3w e 7 orme R

(2) HET HI HIATEAL AT & FTTh T3 F8q
SATET ST B

(3) ==t % o= o e W wehdl § 3N I
forerr & AftRR @ iR A &
el R ekl B

(4) == N I AR W wE = w R
SATATSHTCHS &9 ° G- § Hee idl @

53. A teacher has taught measurement of
area to class VIII children, but many of 53. Uk f3e7er 4 ke VIIL o o1 shl &% {194
her students are confused between the IR 3, i 399 s B &%hd 3T ST
usage of different units of area and 1 fafd= shal & 39 o = 3dsH | Bl
volume. What could be the reason for S 29 a8 o YN 1 R0 FT 8l Gohdl 27
such a confusion in children?
(1) The children did not know the tiSe (1)“srl 1 STk I ZHEAT BT ST T
of units for area. 3Tt 7|
(2) The children have not memorized ! . !
different units. (2) ot 3 farfe W?ﬁ <l e 7 fopam 2|
(3) Different units have been (3) STCHT-3Te A H1 IT% 2fE Sfe @
introduced all together without gafig fru fomr @t 1 Wiy SdmEn
relating them with their daily life. TR
(4) The concept of measurement of
area is a difficult topic for a (4) e VI & freaeff & foro eaeer Ao &
class VIII learner. AU Teh whied fawa 2|
SPACE FOR ROUGH WORK / % &M & foru srg
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54. Which one of the following can be the

most appropriate aim of encouraging
mathematical communication in
classroom?

(1) Children should be able to use a
precise language while talking
about mathematical statements
and using them

(2) Children who have fear about
mathematics should be able to
interact in the class

(3) To organize debates in the class
regarding topics of mathematics

(4) Children should be able to recite
theorems and formulas in
mathematics class

54. T H U STdieid ol TedTed i ol Ted

I 2 fefetfiad § ¥ F9-T1 & e 87

(1) it foaeon & sR § a1q A g 3R
IR I Hd GHI S hl Uk Gl
AT 3T ITANT 4 T G40 21 1R

() T & = A m= A wr § e
=i s (3fa:fwan) § wem g =Ry

(3) Tord % fowat % IR § wEm W aEE
AN T

(4) ==t 1 Tfor Y wem B R SR g ®
I § G ST TRy

55. T & Jarfe qhe w1 3T e—

55. The purpose of a diagnostic test in (1) o=A1 6t T0g § TR
mathematics is—
. . (2) wrar-fuar =61 gfafsear <
(1) to know the ‘gaps in children’s
understanding (3) i feitd s
(2) to give feedback to the parents
(@) meifcr sty #r wfien & fow yw-um A
(3) to fill the progress report oo
(4) to plan the question paper for the
end term examination
56. ITERIHF e TErs 23—
56. Remedial teaching is helpful for— (1) T e F1 T2l ¥ forn
(1) teaching the whole class
(2) e I gRER % forg
(2) recapitulating the lesson
(3) teaching in play-way method (3) @t fafer gwr fvew 3 fere
(4) removing learning difficulties of (4) FISR BET A W@ il Hfega wm EQ
weak students i % fog
SPACE FOR ROUGH WORK / % &M & foru srg
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57. Which one of the following is not a 57. fafafaga & @ =F-# s "l ufswen

mathematical process? TE 27

(1) Visualization (1) A=HER

(2) Memorization

(2) T
(3) Estimation

(3) TR
(4) Measurement

(4) Hrmad

58. “Errors play a crucial role in learning of
mathematics.” This statement is—

58. it e § 3 U Teer v

21 98 o e—

(1) false, because errors occur due_to
carelessness

(1) ea8cr, i RATel 3 HR et el 8

(2) true, because errors reflect the

thinking of child (2) |, Fifeh et st hil G I gl T

(3) false, because mathematics is exact

(3) 31|, Fifeh TG T B

(4) true, because errors provide ] ‘ o .
feedback about the marks they (4) wca, wih gﬁ?ﬁ g Al k aR T
obtained gfafskan yam &t 8

SPACE FOR ROUGH WORK / % &M & foru srg
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59. While teaching ‘shapes’, a teacher can 59. ‘3R g THA, Uk e et T
plan a trip to historical places, as— T ITAT Y ASHT ST Tkl &, FTh—

A it needsf tohprovicile éeisuli;e tims as A TEEE W F B TEEEd
most o t.e_syaus as been WQ’T&IWWWWI{T?T
completed in time 3

B. it would be an opportunity to K
improve communication skill B. ¥ HeR HRI # gor T T S BT

C. shapes are an integral part of every C. 3R T arghell H Th arfire fewm 2
architecture and such trips AN 3 dR' ﬁ I o= § "9y okl
encourage connections across TrcaTted et 8
disciplines D. fven &€ g des fou HA fwiw H

D. field tlilps are recommended by St 2, Tafe THET AESH rEvE fR
Education Board, so must be T =Ry
organized P

Select the correct answer using the %QTFQ%?W R HE I G|

code given below. (1) AR B

(1) A and B 2 C

(2) C

(3) B and C (3) B3R C

4) A, C and D (4) A, C3RD

60. A student was asked to calculate the ; o -
surface area of a cube. 60. T T I TH T H FIE ki
foru =gt T o
He calculated the volume.
. . 38 STFad HTel |

The reason(s) of error in calculation | ]

is/are— O | JRE T/ HO 8§/ T—

A. ‘{)he. studenth ﬁn((iis the clfllis K =0 % ﬁ 391 uT &, FhiRE 38 T

oring s e oes not like e Tee T2 2
mathematics class .

B. the student is not fit to study in B.79H 3@ %A § sremr e % o 3 R
that class T @

C. the student is not able to C. B Hdg 1 &%hel R TR sh ST
understand the concept of surface I gugH H 99 e 2
area and volume D. B Hag 1 &Fhcl 3R ARG I SR

D. the stlid(;nt ?as unders(‘;oodl the 1 TS TR
concept of surface area and volume

Select the correct answer using the :ﬂ%]%qnqgam HH IR G

code given below. (1) C

(1) € (2) BarC

(2) B and C

(3) D (3) D

(4) A and B (4) A B
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61. The longest snakes found in the 61. TER § U S 91! Hed e /96—
worlc? are— (1) amE®
(;) vipers | (2) T
(3) Enacon as (3) s
(%) boas (4) Tefa s
(4) reticulated pythons
62. Yoga is done by the people in the world 62. H I g A e S g o
because— (1) I8 Teb A ™ 2
(1) it is a simple exercise (2) 2 AR ol TEY Tl 2
(2) it keeps people healthy (3) ¥E W@ eI &
(3) it increases hunger (4) =8 giwt @ g
4) it brings happiness
) g 63. I9F & ok T IMTHR = g T T
63. The vaccine for smallpox was (1) e T
?ll)s Clzverefi ];y_ (2) T w=
ona oss :
(2) Robert Koch (3) R
(3) Edward Jenner (4)
(4) Alexander Fleming 64. fefafiad & 9 foreer ST w afweres & w9
i ?
64. Which one of the following is used as ﬁ%?ﬂv?ﬂm%.
preservative? (1) | =TT Trcthe
(1) Copper sulphate (2). wifsam STe
(2) Sodium benzoate (3) I Tethe
(3) Ammonium sulphate (4) m=femm FeEe
4) Sodium chloride )
“ 65. I 1 3T % Ieqreq § o T 2
65. Yeast is used for the production of— (1) Terera
(1) alcohol o) =@
(2) curd (3) S
(3) sugar (3)
(4) common salt (4) ST
66. Mitochondria : ATP :: Ribosome : ? 66. TEEHI5AT : Yo Fo o :: TEarEm : 7
(1) Carbohydrate (1) wreiErEge
(2) Fat (2) T
(3) Protein (3) WM
(4) Vitamin (4) Toertm
SPACE FOR ROUGH WORK / % &M & foru srg
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67. If the frequency of a simple pendulum 67. AfG TF WS Al 6l mﬁl 2 S 7, a@ T8
is 2 Hz, how many oscillations will it 16 ¥ehe § foha drem @ wam?
complete in 16 seconds? (1) 8 (2) 16
(1) 8 (2) 16 (3) 32 (4) 64
(3) 32 (4) 64
68. Which one of the following metals 68. Sadt 27 5§ - g A H T R
burns if kept in air?
(1) Sodium (1) wifem
(2) Magnesium (2) ﬁ'ﬂﬁﬁ'rqq
(3) Zinc (3) s (f)
(4) Aluminium (4) ﬁfﬂﬁﬁ?ﬂ
69. Magnesium hydroxide [Mg(OH),] is 69. Ffifrm EEgIFEE Mg (OH),] i I
used as— % &9 TR T g
(1) oxidizing agent (1) AR
(2) reducing agent (2) STT=rf SR
(3) anti-acid (3) ufd-3ma
(4) fermentation agent (4) fopva wReh
70. Which one of the following gases burns 70. fF=fafad 8 9 sF-d T 9w H wafd %
with pop sound? oAt 27
(1) Oxygen (1) TS
(2) Hydrogen (2) ‘EESNH
(3) Nitrogen dioxide (3) TTEISH STRAATHEE
(4) Sulphur dioxide (4) Tc, SRR
71. gh;lf)};(lfoﬁz i(;llf(;\;fit;g is/are example(s) 71t & 8 FE-a/a ST T F/F
(1) Gravitation force. S 231
(1) TRy 9
(2) Muscular force
(3) Magnetic force (2) e
(4) Both (1) and (2) (8) grarhrt .
. _ (4) (1) #h (2) 2w
72. }]Zl)(l)e;ii;cflz is controlled by __ 7o Hgﬁ%’ﬁﬂﬁﬂ%ﬁ?mﬁaﬁﬁ@m%?
(1) thyroxine (1) e
(2) adrenaline (2) wgHfer
(3) insulin (3) 3gfeH
(4) thymosin (4) omegmitEa
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P-11/M 21 [ PTO



73. Which one of the following is not a 73. f=fafea & @ =F-w wEftem @1 3AE
product of petroleum? TE 27
(1) Kerosene (1) Tt =1 qa
(2) CNG (2) ©to THo Sfto
(3) Paraffin wax (3) uftea #w
(4) Bitumen (4) ﬁ'{ﬁ:{
74. Red Data Book contains a record of— 74. WA GH ____ I Tehie wdl Bl
(1) endangered species (1) HeFeTs St
(2) extinct species 2) %@W
(3) flora (3) =y
(4) fauna (@) Wﬁ
75. Why are the soles of the shoes treaded? 75, q\ﬁ ¥ ¥ saEAe R o 57
(1) To give the shoes more protection (1) S 21 iR w3 3 for
(2) To decrease friction () e w ¥ R
(3) To increase friction (8)"Se T ¥ f
(4) To increase life of the shoes ) E@Eb‘r SIS T
T o i | 7. 3 20 v i ot
electricity or not. What is she likely to T 1 it i ag feregeq 1 geersh @
find? TET | W AU B H AW 87
(1) It is good conductor of electricity. (1) o= forpa %1 garars 2|
(2) It is an insulator. (2) %@ﬁ%ﬁﬁﬁ%l
(3) It is poor conductor of electricity. (3) ¥ fo=pd =1 FHSIR =Tt H
(4) None of the above (4) 39w § A HE T
SPACE FOR ROUGH WORK / % &M & foru smrg
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77. Which one of the following statements 77. f=fafga 9 @ #F-91 we g T 27
is not correct?

1) foret fogpa wfwy & gif varfed @9 &

(1) There is a minimum limit of current &
which can safely flow in the electric fee *TRY =81 g e &
circuit. ‘
(2) Tt foggq uftay o gefera wenfed €9
(2) There is a maximum limit of foTu ferega, omn =6t Afereram € 2 |
current which can safely flow in the
electric circuit. (3) wft wadl % foagq ufwel § W@ @MU
Eickd
(3) Fuses are inserted in electric
circuits of all the buildings. (4) af wfmy § s, @
(4) If the proper fuse is inserted in a {R‘f\&ﬁ e § sfer ]%'_%_‘L U B T T
circuit, it will blow off if the current 3 S|

is more than the safe limit.

78. Which one of the following places is 78. o H 4 fm e A RINEE

most likely to be affected by a cyclone? SHferh T @1 ol Far 27
(1) Porbandar (1) TREER
(2) Puri 2) T
(3) Mumbai
3
(4) Goa <) 5}3@
(8) =

79. The change in seasons on the earth
occurs because—

(1) the axis of rotation of the earth 79. 35 R A g o
is perpendicular to the plane of

its orbit (1) 9=t w1 ol o1 3Ot FaN F qd b
[G=Ch
(2) the axis of rotation of the earth is
tilted with respect to the plane of (2) geat = qyf:[ 3181 THh! HET o dcl o e
its orbit T T3 &

(3) the distance between the earth and
the sun is not constant

(3) ueeft 3k o & <frwr Y gt fga i R

(4) the axis of rotation of the earth is (4) B_'%ﬁ.alo‘l U 1 TRl w1 ok dd ok
parallel to the plane of its orbit THMTH 2
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80. There are two columns, Column—A

(@) Canopy

(¢) Humus

(d) Porcupine

and Column—B :
Column—A Column—B

(i) Dead plant and
animal tissues

(b) Decomposers (ii) A wild animal

(iii) Microorganism

(iv) Branches of tall
tree

Which one of the following is the
correct sequence of Column—B for the
given sequence of Column—A?

(1) @), (), (i), (iv)

(2) @), (i), (), (iv)

(3) (i), (iv), (i1), ()

(4) (iv), (i), (i), (i)

80. T THY, TaFT—A 3R TWri—B e mu § -

TTFH—A T+ —B
(a) gafaam (i) dmEU IR SgeT *
Jd Sd<h
(b) e (i) weF StTelt S
(© wma (i) FEESia
(d) = (iv) =g 94 i @

fFrfafaa # @ #F-w iy U T—A & F
% ITER TFI—B T HEl HH T

(1) @), (), (i), (iv)
(2) @), (i), (i), (iv)
(3) (i), (iv), (ii), ()

(4) (iv)s-(iid); (1), (i)

81. Why is formative assessment important 8 1 fasTnl THTeH: 3Tl I tl%r_cﬁgﬁ 77
in science?
(1) I o1 M 31

(1) It is easy to conduct.

(2) It helps in developing scientific (2) == ﬁ{m%rﬁ?ﬁ i d * i
temper in students. :

(3) It is diagnostic. (3) e farrens @

(4) It helps in better understanding of (4) 92 fogm = 38 YSR U gHgH H 9EEE
science. 2l
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82. Why are science fairs organized in 82. formemt # fomm ot &1 s W fRen
schools? ST 27
(1) To prepare students for higher (1) frenfit = fogm § 3= fren ¥ fow Fam
education in science FQ F fou
) To ey the students to seore | st 1 375 o 5 5 s o
F | TERal FH & oy
(3) To nurture creativity and . ) .
experimentation in science among (3) Frefoia & fommm | Yo wd M R
students 7T 1 forepm i & fag
(4) To evaluate students on the basis (4) Tenfdat 1 AF TSR F OMUR W
of their performance AT A & forg
83. As a teacher, which one of the following | g3, v i 3 7 frofa 3 3 i o v
St S 59
scientific approach to teaching? i e = fore Tt ! &
(1) Clarify the students about the (1) fefot 1 wen § sEgRonA w1 e
concepts in the class oSl
(2) Show the use of technology for (2) srauRonAT & e %@ AT BT T
teaching concepts e
(3) Give projects to the students (3) | Frenfit =t afEsEd 3
4) Asl; . .the students to perform (3) saroTS @ waRE  TRRRE
activities related to the concepts R
84. According to NCF-2005, “good science .
education is true to life”. What does 84. Tio Hlo THo—2005 % IFHR, ‘= fogH
this mean? e Sftem & ufer o et 2771 e @ oty
?
(1) Science should prepare the child to &
the world of work. (1) foge e 1 @ A gher # wEw g
(2) Science should be able to engage T |
the child meaningfully. 2 £ - et 3 @ —
(3) Science should enable the child in Ty B |
learning the processes of acquiring N
scientific knowledge. (3) o= sreteh 1 ST T A R
TishaATAl Sl HiaH e 34|
(4) Science should help in living easy '
life. (4) Tomm smEm Sfed =dia & 9eEe B
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P-11/M o5 [ PTO



85. Which one of the following is not a 85. FHfafgd & ¥ HH-§1 AFIHE BRI 1 IO
quality of scientific attitude? TE 27
(1) Open-mindedness (1) g@ﬂqﬁw
(2) Curiosity to learn more (2) 3Tferr dias Il
(3) Objectivity in approach to problems (3) TwEet % e # a@ﬁ‘gﬁr
(4) Hard work (4) e F
86. Hari wants to teach the circular motion .
to class VI students. Which one of the 86. =i Fam VI b ﬁngﬂf\aﬁﬁ kAl Tﬁ T ve
following will be the best method? el @l Fefefad & @ #e-w woE e
[ECIR U
(1) Discussion
(1) ==t
(2) Activity-based teaching
(2) Tiafafe-smenfia e
(3) Giving examples
(3) 3ETEO e
(4) Demonstration
(4) Se=H
87. Which one of the following is gan
. . . . 5 )
important aim of learning sciences: 87, Herangd 4 @ aa-a B SREm F
wEE 389 B
(1) To get knowledge of science
1) fogm =1 9 aifia &
(2) To collect the information of 1) T
science contents
(2) T ot forwererg ot STHeRT ThET T
(3) To imbibe the values of honesty, o )
integrity and cooperation among (3) @%W'k"ﬁ. ¥ e, STEedl 3R
learners TEAN % oAl ht i
(4) To help the fellow colleagues in “4) 3T‘ﬁ weaTfedt A fagm &1 3= I
getting knowledge of science T FErIdT T
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88. The continuous and comprehensive 88. fag= = HETIEFI T gqd U9 99y H@'I?Ff EQ

evaluation in science means— a1 a—
(1) summative and formative (1) =Afcm Td THTCHS W
assessment

2) 3ferk ATedt Sire Ta wdian
(2) more frequent test and @) ™

examination .
(3) Afrm % 3The TG AW TfafafET 3R

(3) routine activities and exercises to

assess learning

(4) Togm & |t veqRTl w1 YoureA

(4) evaluation of all aspects of science

89. fHfafad & @ =H-w1 gaer-wwam fafer =

89. Which one of the following is not a step T =0T TE 2
of problem-solving approach?

(1) fefa it swewm e

(1) Visualizing the situation

(2) TETEIH T YATE AT
(2) Attempt to solve

(3) fe=d femter

(3) Drawing conclusion

@) stactre

(4) Observation

90. ffafad # @ wF-w fogm § sgewm fafy

90. Which one of the following is a step of o e B

analogy strategy in science?
(1) Map similarities (1) FETFATAT B Ferm

(2) Presentation of abstraction (2) WWW

(3) Interlinking concepts (3) JTALRUMSAT I Th-TR T SIS

(4) Application (4) 3w
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IMPORTANT
Question Nos. 31 to 90 Either from Part—II
(Mathematics and Science) Or from Part—III
(Social Studies/Social Science).

Candidates have to do

TEEqUl : TR w YW Ho 31 € 90 AT @t
Ii—II (o 3R fog@) = wm—II1 (s
31 /AT o) @ 21

PART—III / «\wi—III
SOCIAL STUDIES/SOCIAL SCIENCE / @I 21egaa /A fogm

fAger : frfafad T % S| A & g adt/a=

Directions : Answer the following questions
by selecting the correct/most appropriate
options.

31. Wind vane is used for measuring—

(1) wind velocity
(2) air pressure
(3) wind direction

(4) air temperature

32. Which one of the following layers of the

33.

P-11/M

atmosphere helps in the transmission
of radio waves?

(1) Stratosphere

(2) Mesosphere

(3) Thermosphere

(4) Exosphere

Identify the various layers of the eanth

in order from interior to the outermost
layer :

Uk TR g

31.

32.

33.

(1) Crust, mantle, outer core, inner
core

(2) Mantle, crust, outer core, inner
core

(3) Inner core, outer core, crust,
mantle

(4) Inner core, outer core, mantle,
crust
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ara-feesff =1 v = oA & fau fm
T 87

(1) =T =

(2) =g <

(3) =g famm

(4) =g qTEHT

agHea & fefafaa § @ SR-d wa e
N % GEOT § Heg et 27

(1) GEaHSA

(2) "eEEE

@)= g

(4) wferdsa

geeft Y fafere weai =61 w0 § stiafer o aredian
‘T{HWWTEFQ:

(1) ¥, fea, ared wie, A Hie
(2) Hed, Tdd, dTEd FS, AN B
(3) Al HIe, I HIe, TUd, Hed
(4) AN Hie, A His, Hod, Tl



34. Observe carefully the location of the
sun, earth and moon in the given
diagram and tell what it depicts :

O Moon

©-6

(1) Solar eclipse
(2) Lunar eclipse
(3) Spring tide

(4) Neap tide

35. When the river enters the plain, it

bends and flows forming large bends
known as—

(1) levee
(2) floodplain
(3) meander

(4) oxbow lake

36. Which means of transport is extremely
useful in most inaccessible areas and
in time of calamities for rescuing
people and distributing food, water,

clothes and medicines?
(1) Airways
(2) Railways

(3) Roadways

(4) Waterways

P-11/M 20

34. fau U @ # g¥, gt R =zm A feufa =i
&I ¥ IR 3T Fa1ge & 7% . gwiiar & -

(Ot

1}
‘<=

(1) -
(2) FE-TEW
(3) F&q SAR-He
(4) T SAR-Hre
35. 5@ T #q § yEW FA 2, 9 I8 g3 W 2
ST W ST adl ¢, S Heardl 8—
() desy
(2) 1 1 e
(3) forad
(4) =mosfiet
36. e W &t § 3R euared % Wy A
H TAM AR WISH, T, FIS T AT Rl
foafa 0 % foIu amamTa &1 FF-T1 we 98T
I 27
(1) et
(2) Tommt
(3) HeHHT
(4) St

I PTO



37. The branch of geography which deals

with composition of a particular human
population is called—

(1) urban geography
(2) biogeography
(3) demography
(4) human geography

38. Assertion (A) :
The sun sets in Gujarat about two
hours after Arunachal Pradesh.
Reason (R) :
Arunachal Pradesh is on a higher
latitude than Gujarat.
Select the correct option from the given
alternatives.
(1) Both (A) and (R) are true, and (R)
explains (A)
(2) Both (A) and (R) are true, but (R)
does not explain (A)
(3) (A) is true and (R) is false
(4) (A) is false and (R) is true
39. Which one of the following is a non-
conventional source of energy?
(1) Firewood
(2) Natural gas
(3) Solar energy
(4) Coal
40. The breeding of fish in specially
constructed tanks and ponds is
known as—
(1) sericulture
(2) viticulture
(3) horticulture
(4) pisciculture
P-11/M
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37. Jd HI 98 e, S At aa sHaen #

38.

39.

40.

T ¥ B & wefa 2, Fead 3
(1) R et

(2) S e

(3) ST

(4) HFE e

arfirRed (A) :

o TS W STV UeR ¥ ORI &1 He
g 7% Tl 2

%I (R) :
ITRUTEE YSTT, TSI 1 ol H 3o ST
W fora gl

feu U fomredt © Tt famhed 1 == S|

(1) (A) 3R (R) 3HI | &, 3 (R) (A)
Y Al B

(2) (A) 2 (R) <FI ¥ &, Afh (R) (A)
T TE T ©

(8) lA) T I (R) 376 &

(4) (4) A T IR (R) ¥ B

frafafaa & @ #F-w1 el w1 -
| 27

(1) g

(2) s @

(3) ¥R ==

(4) el

fogm wq @ ffifa 3t i Qe & goeh #
TS HEATAT B—

(1) TeeeR

2) fafewemr

(3) Tefeheer

(4) TorefRe=



41.

42,

43.

44,
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A narrow strip of land joining two

landmasses is known as—

(1) strait

(2) isthmus

(3) island

(4) bay

Which one of the following continents
is smallest in size?

(1) Australia

(2) South America

(3) Africa

(4) Europe

At the upper primary stage, Social

Science comprises of—
(1) History, Geography, Politieal
Science, Psychology

(2) History,
Sociology

Geography, Economics,

(3) History, Geography, Political

Science, Economics

(4) History, Geography, Political

Science, Sociology

Inductive learning is contradictory to
which one of the following approaches?

(1) Expository teaching
(2) Structure training
(3) Simulation

(4) Mastery learning
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TS I TH TR 9, S & S TAAT qFT Rl
TH-gE ¥ Siedl 2, W F7 Fed 87

(1) Sterafy

(2) Torerfy

(3) dm

(4) @

ffafga & & F9-w1 TR TR & wed
BT 87

(1) smegfern

(2) sfeqor s

(3) AHIHT

(4) ="

3+ grefieh TR W A fomm 8 e E—
(1) Sfrer, e, TSIt - o™, weifeEe

(2) 3faem, sie, TIRTTE, THISRIE

(3) zforem, wpiiar, wewife- o, efeme

(4) 3foem, i, TeHif-faem, e
AT A ffafaa § @ fma faar #
ferrememet 27

(1) =ATEATTES f31eor

(2) HTAATCHS fRTe

(3) IR

(4) FgoTTensR SAferm

I PTO



45.

46.

47.

48.

49,
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Read the given statements A and B and
select the correct answer :

A. Critical thinking promotes the
building of concepts, application
and expansion of ideas.

B. It does not help in understanding
and evaluating arguments and
beliefs of others.

(1) A is true and B is false
(2) A is false and B is true
(3) Both A and B are false
(4) Both A and B are true

What is an empirical evidence?

(1) Data gathered in the real world
through the senses

(2) A numeric approach for research
(3) Data measured in metric units

(4) Data gathered using
methods of data collection

reliable

The models/replicas of
features are most
teaching—

(1) History

physical
suitable for

(2) Economics

(3) Geography

(4) Political Science

The collection of weather information

from the local newspaper is an example
of which type of source?

(1) Primary

(2) Secondary

(3) Tertiary

(4) Both primary and tertiary

In which type of classroom, the

students with learning disabilities
learn alongside other students?

(1) Exclusive
(2) Special
(3) Inclusive
(4) Modern
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45.

46.

47.

48.

49.

feu T FeHT A 3T B I ufeu 3R TE W
waﬁﬁlﬂ:

A. AEAIHS dE gRONST % fAEior qer
foaml o PRI 3R fawar =1 seEr <
|

B. 78 gl % dhi 3R favaml o1 quem 3R
AT A | HEE g el |

(1) AT R B 3WA

(2) ASEAZ I BHEA R

(3) A 3R B <Ml em@ca §

(4) A 3R B oM 4 8

SIS |E HT 27
(1) 3=l o wiem @ arafas gHEm # weba
kg

(2) THIH & fIU U HEATHSE e

(3) wfger gehreAl # HY Y 3AThg

(4) RS % TR o fovaa- adie =1 3u=m
Jifoes  fomimareil & #iew/ufpteat
fereqmr o foru we® stferen 3ug 2

(1) “=faem

(2) =eieTE

(3) et

(4) TSHifa-fasm

T gHER-w W GEH o STHEE S EUE
forer wepm o1 Eia 27

(1) wmerfis

2) et

(3) gt

(4) wmfeR SR gerEe aEt

e it reqmar arer fremeff foha wepr &t e
T 31 BEl % a1y dad 87

(1) 3=

(2) foramy

(3) wmTerEft

(4) emgf



50. Who has given the following theory?

“All children go through the same
sequence of development, but at
different rates. Therefore teacher must
plan activities for individual children
and small groups, not just for the class
as a whole.”

(1) C. L. Ogden

(2) D. Purcell
(3) J. H. Bell
(4) J. Piaget
51. In order to promote cooperative
learning in the classroom, a teacher
should—
(1) engage students in debate and
discussions
(2) give them individual projects
(3) divide the class in small groups for
work
(4) provide them various sources to do
the project
52. A self-guided, self-disciplined thinking
which attempts to reason at the
highest level of quality in a fair-minded
way is called—
(1) critical thinking
(2) complex thinking
(3) intelligent thinking
(4) abstract thinking
53. The colours used in the Ajanta Caves
Paintings have been derived from
which of the following materials?
(1) Remains of animal organs
(2) Graphite
(3) Plants and minerals
(4) Slate
P-11/M
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50. ffctiaa frgra frem feam &7

51.

S2.

53.

“oft T fawm % T ogEH A A E,
ifer T o0 9| gafory fiees 1 g @t

w1 % fau 7@ 9w =t a= @R se
el o o wfafafemi 6 @ s =ifge)’”’

(1) Hio Telo 3TSA

(2) o wHa

(3) So THHo A

(4) Sto fm

HAT B Tghrl e 1 seEn ¢ % o U
Tareres =1 =mfee—

(1) SET = 528 R ==ieT § @Y

(2) 3% =afkra afEsET 2

(3) M = forw wem =1 B wggl # fawriod
L

(4) ufEisa =t &0 & fau 32 fafim @
T

Ter e -HaRTd, sTe-rgenfia @ S U
3fod deh ¥ ToEET %k IHAH TR W qeh B
1 TAE B €, I Fed e—

(1) TAr=HTHS =

(2) vfew d@=

(3) Fhewm Hr=

(4) e H=

ISl T foslt § geame foRg e a1 fefoafad
% ¥ form gl @ W fopu o 27

(1) 93] 3 & Tay

(2) Iree

(3) e IR Wi

(4)
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55.

56.

57.

58.
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The earliest manuscripts were written
on—

(1) palm leaves

(2) stones

(3) paper

(4) wood

Which one of the following periods is
longest in the human history?

(1) Palaeolithic

(2) Mesolithic

(3) Neolithic

(4) Megalithic

Read the given statements A and B and
select the correct answer :

A. Mehrgarh is located in a fertile
plain near Bolan Pass of Pakistan.

B. Evidences of farming and herding
are found here.

(1) A is true and B is false
(2) A is false and B is true
(3) Both A and B are false
(4) Both A and B are true
In which one of the following States of

India, the largest number of Harappan
sites have been found?

(1) Punjab

(2) Haryana

(3) Gujarat

(4) Jammu and Kashmir

‘Rig Veda’ was originally composed in
which one of the following languages?
(1) Brahmi

(2) Pali

(3) Sanskrit

(4) Prakrit
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oy gU wigfataat o Tt T off)
(1) @8 Wi

(2) e

(3) =hrTSt

(4) wTRE

e sfoem @ ffafas & @ F-6 ey
(1) T A<t 7

(1) FTHTSTOT Shtet

(2) HEAATITOT Tt

(3) AT 1A

(4) HETITITOT SHTA

fw T oAt A 3R B @I ufgu 3R wEt I H
T I

A. UEUIG UfhEH & Sl & % UH Uk
3IUSTS: Hed | ferd R

B. & Tl 3R WO % 91ed T §d §
(1) A9 3N B 30A B

(2) A F9H T 3 B 87 ¢

(8) Al$TR B qHI 318 ©

(4) A 3R B Ml uca &

IRa & frefafad o= 8 | fhe @ T A
TEWT % TR To9 <t T § fiet 87

(1) usE

(2) s

(3) TR

(4) S 3R i

‘e qd w9 ° frefefea 8 @ R am |
= e of?

(1) seh

(2) dreft

(3) w=Fd
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59. The

60.

61.

62.
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first ruler of Magadha
Mahajanapadas in the sixth century
BC was—

(1) Mahavira

(2) Prasenjit

(3) Bimbisara

(4) Ajatashatru

Which one of the following is not
among the three jewels of Buddhism?
(1) Buddha

(2) Dhamma

(3) Ahimsa

(4) Sangha

Who among the following elects the
Rajya Sabha Members?

(1) Voters in Assembly Constituencies

(2) Voters in Parliamentary Constitu-
encies

(3) Lok Sabha Members

(4) Members of Legislative Assemblies
(MLAs)

Which of the following systems of

government was adopted by India?

(1) Parliamentary and Unitary

(2) Presidential and Federal

(3) Presidential and Unitary

(4) Parliamentary and Federal
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T VAEEl W Y@ H Y HENAYE % Oed
MESH I—

(1) wemefR

(2) wasfia

(3) ferfemm

(4) SFSTTaRTY

frafafaa & @ #9-1 Sg-ad * el § 9
& 87

(1) 5

(2) ==

(3) feEn

(4) @

Fefafad & @ #F TsEa weE w1 gAE
LAl &Y

(1) Taeras fFafea-a=t & gagrmarn

(2) wEer fatea-a=1 % gagmar

(3) AT TG

(4) Taums & wew (faumes)

rd g Fefafea § @ fra wmem yomeft i
SO TR ATY

(1) woe 3R Ui

(2) Tgafd 3R w=E

(3) TgHfd FR ThTeHS

(4) Tud R wef
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63. How many Parliamentary Constitu- | 63. ggd Sl & o fora dade FHater -9

encies are reserved for the Scheduled ITferd 27
Castes?

(1) 48
(1) 48

(2) 84
(2) 84

(3) 47
(3) 47

4) 74
4) 74

64. RA § WAl YA % HR FEffEd § 9
64. Which one of the following Funda- ore wiifeter AR o1 3gEe FoRa STaT 7

mental Rights is violated due to
practice of untouchability in India? (1) EHHAT 1 AR

(1) Right to Equality (2) T F AR

(2) Right to Freedom (3) o % frg SRR

(3) Right against Exploitation (4) e % 5 s
(4) Right to Constitutional Remedies

65. W@ ¥ wEW ¥ omgEw, frefafaa @

65. As per the Constitution of India, which HI-9T Hifeter 3Tferepr T&t 27
one of the following is mot a Funda-
mental Right? (1) T s AR
(1) Right to Education (2) wwor % Ty STfeeRR
(2) Right against Exploitation (3) mem =i TSI = SRR
(3) Right to Freedom of Religion (4) gty 1 R

(4) Right to Property
66. SURCT % IMYUR W Je9Td H1 Hafild

66. Untouchability refers to the Ll 2
discrimination on the basis of—

(1) it ferepetrTan
(1) physical disability .
(2) gender (2) e
(3) caste (3) smfa
(4) race (4) =
67. Who appoints the Chief Minister? 67. g@ﬂsﬁeﬁeﬁqﬁ?ﬁ T 87
(1) The President (1) Tgafa
(2) The Prime Minister (2) guTE
(3) The Governor (3) TIUTA
(4) The Chief Justice of the High Court (4) 3= < & e =i
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68. Who appoints the Governor? 68. TSI &l HIF ﬁ'ﬂ?ﬁ T 77

(1) The Prime Minister (1) g
(2) The Chief Minister (2) gt
(3) The Chief Justice of India (3) WRd = G&I =
(4) The President (4) Tgafa
69. Who elects the Prime Minister? 69. TUTHAT F FATE FHIF LT 57
(1) The Council of Ministers (1) gt <t gfteg
(2) The Chief Ministers (2) gt
(3) MPs (3) wwE
(4) MPs and MLAs (4) @Eg IR faumes

70. Who among the following is called the 70. Trfeiaa § 9 forgenl WA &1 9gelr AT el
first citizen of India? ST 27

(1) The Chief Justice of India (1) 9RA % J&A =ATTefaT

(2) The Home Minister ) .
(3) The President @)
(4) The Prime Minister @) .

71. Who among the followi_ng is galled the 71. freforfad § 4 fros wmd § T59 F Rl
first citizen of a State in India?
NI a7 ST 27

(1) The Chief Justice of the High Court (1) =1 =mrmem ¥ T =refieT

(2) The Home Minister

(2) Tt
(3) The Governor

(3) TSI
(4) The Chief Minister .

(4) g

72. The current Lok Sabha (from 2014

onwards) is the— 72. FA9H SAHEAT (2014 F =€) B—
(1) 13th (1) 134
(2) 14th (2) 144t
(3) 15th (3) 15t
(4) 16th (4) 164t
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73.

74.

75.

76.

77.

Who is the current President of India?

(1) Narendra Modi

(2) Pratibha Patil

(3) M. Venkaiah Naidu

(4) Ram Nath Kovind

Which of the following is not
mentioned in the Constitution of India?

(1) Names of the States and Union
Territories

(2) Structure of the Government

(3) Names of political parties

(4) Rights of the citizens

Who nominates Members to the Rajya
Sabha?

(1) The President

(2) The Vice President

(3) The Prime Minister

(4) The Chief Justice of the Supreme

Court

Who among the following was the
President of the Constituent Assembly
of India?

(1) C. Rajagopalachari

(2) Dr. B. R. Ambedkar

(3) Dr. Rajendra Prasad

(4) Jawaharlal Nehru

Who among the following was the only
Indian Governor-General of India?

(1) Dr. Sarvepalli Radhakrishnan

(2) B. Pattabhi Sitaramayya

(3) T. T. Krishnamachari

(4) C. Rajagopalachari
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Rd % wfaem # fefafaa § @ frue sga
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(1) T 3R hz-THa Jew o AT
(2) TR T g

(3) T=Hifae gedl & I

(4) AWTRGRT % ATHR

TSTEAT § HeTl o A ATHIRd Bl 27

(1) Tmafd

(2) SuRrafe

(3) o

(4) TaT= =P % GET =i
ffafad & 9 &9 wRa 6 Giagm a9 a6
aTegey oATe

(1) "o TSTIMTATERY

(2) Efo dfto HARo HreIga

(3) efo TS TR

(4) SETEed HEw
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(1) o Heug! TRV

(2) sfto gy darwzn
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79.

80.

81.
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When was the Constitution of India
adopted?

(1) August 15, 1947

(2) November 26, 1947

(3) November 26, 1949

(4) January 26, 1950

Who among the following played a

decisive role in integrating the Princely
States of India?

(1) Jawaharlal Nehru

(2) Sardar Vallabhbhai Patel

(3) Dr. B. R. Ambedkar

(4) C. Rajagopalachari

Which of the following deal with the

matters in the Concurrent List of the
Constitution of India?

(1) Union Government and State

Governments

(2) State Governments and Local

Government Bodies
(3) Union Territories
(4) Local Government Bodies
Who among the following was the

Chairman of the Drafting Committee in
the Constituent Assembly of India?

(1) C. Rajagopalachari
(2) Dr. B. R. Ambedkar
(3) Dr. Rajendra Prasad

(4) Jawaharlal Nehru
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A 1 G el STIRT T 917

(1) 15 7R, 1947

(2) 26 @R, 1947

(3) 26 TR, 1949

(4) 26 SEadl, 1950

fafafea & 9 fraa wra it femed w1 hid
w3 & frortass sfte fané oft?

(1) SETEE 8%

(2) W TG e

(3) o sfto TR0 I

(4) ®ro TrSHTITTET=RT

frffad @ @ 9 wRa % d@fum # gued
Al 26 At 6 s ey 27

(1) %z TR 3R ToT Fn

(2) TST TR IR T wrt e

(3) - T3

(4) T T e
ffafad & & ®9 yrd i G@fgum @ A
HHeT Afufd o sTeme 97

(1) o TSAMYTATERT

(2) Efo dfto ARo TR

(3) Bfo TS5 YOTE

(4) SETEE T
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82.

83.

In the 18th century, under whom did
Bengal gradually break away from the
Mughal control?

(1) Murshid Quli Khan

(2) Nadir Shah

(3) Alivardi Khan

(4) Burhan-ul-Mulk

Who among the following Governor-
Generals decided that Bahadur Shah
Zafar would be the last Mughal
emperor and after his death none of the
descendents would be recognized as a
ruler?

(1) Lord Dalhousie

(2) William Bentinck

(3) Lord Canning

(4) Lord Cornwallis

84. Which Governor-General declared that
Awadh was being misgoverned and
British rule was needed to ensure
proper administration?

(1) Lord Ripon

(2) Lord Canning

(3) Lord Dalhousie
(4) Lord Mountbatten

85. Which ruler of Kanpur called himself

‘Peshwa’?

(1) Nana Saheb

(2) Bajirao I

(3) Bajirao II

(4) Bahadur Shah Zafar
P_11/M
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(1) gffe poft @@
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The best methodology to teach the
theme ‘Factory’ would be—

(1) to narrate a story
(2) to invite a resource person

(3) to organize a visit to an industrial
plant

(4) to screen a documentary film

What is EDUSAT?

(1) The rocket that carries man-made
satellites to be placed in the orbit
around the sun

(2) A newly discovered planet in the
solar system

(3) An asteroid found between the
orbits of Mars and Jupiter

(4) A man-made Indian satellite
The verses and ideas of which one of

the following personalities have been
preserved in ‘Panchvani’ and ‘Bijak’?

(1) Mirabai

(2) Kabir

(3) Guru Nanak

(4) Ravidas

The mural painting from Ellora Caves

which shows Vishnu as Narasimha, the
man-lion, is a work of which period?

(1) Gurjara-Pratihara period

(2) Rashtrakuta period

(3) Chalukya period

(4) Gupta period

Which one of the following organiza-
tions believes in Upanishads?

(1) Brahma Samaj

(2) Ramakrishna Mission

(3) Satyashodhak Samaj

(4) Seva Samaj
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86.

87.

88.

89.

90.

‘FrEH’ % favg 4 9er & fou wew swanf
fafer grft—

(1) T e GAHT
(2) Toreht forig =t fmifaa e

(3) Toreft 3Trenfier @@ it JET AN
AT

(4) T R fhen fewm

ughe (EDUSAT) & & At 27

(1) ke foeemt I wHa-fHida swel =it o
1 e & wofia #a % forw fopen Smar @

(2) ¥RHSA § @IS T T T4 T8

(3) U IR S WA IR FEE(d hl HaT3T
o= T ST @

(4) wa aHa-Ffda v sTre

‘goamofl’ ofR ‘Hfiee’ § fmfafaa § @ fm
M el & ©e IR faemd =+ wfaa T
™ R

(1) ¥

) iR

(8) LR

(4) e

welr 1 e T, e fooy = e
1t geu-fie & w9 # fowmn w2, R @
& FHid 27

(1) TSR-UfER e

(2) TgRE 1A

(3) =TIHT =hicd

(4) TH Tt

Frafafaa o @ ==-o1 d@1ed 3ufvg O sTen
AT 27

(1) o& TH

(2) TEFe fem
(3) TINEH THS
(4) a1 THN
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PART—IV
Language—I
ENGLISH

IMPORTANT

Candidates should attempt questions from Part—IV (Q. Nos.
91 to 120), if they have opted for ENGLISH as Language—I only.

Directions Read the passage carefully
and answer the questions that follow
(Q. Nos. 91 to 99) by selecting the

correct/most appropriate options.

Born out of the forces of globalization, India’s
IT sector is undertaking some globalization
of its own. In search of new sources of rapid
growth, the country’s outsourcing giants are
aggressively expanding beyond their usual
stomping grounds into the developing world;
setting up programming centres, chasing new
clients and hiring local talent. Through
geographic diversification, Indian companies
hope to regain some momentum after the
recession. This shift is being driven by a
global economy in which the US is no longer
the undisputed engine of growth. India’s
IT powers rose to prominence largely on the
decisions made by American executives, who
were quick to capitalize on the cost savings to
be gained by outsourcing noncore operations,
such as systems programming and call
centres, to specialists overseas.

Revenues in India’s IT sector surged from $4
billion in 1998 to $59 billion last fiscal, but
with the recession NASSCOM forecasts that
the growth rate of India’s exports of IT and
other business services to the US and Europe
will drop to at most 7% in the current fiscal
year, down from 16% last year and 29% in
2007-08.

Factors other than the crisis are driving
India’s IT firms into the emerging
world. Although the US still accounts for 60%
of the export revenue of India’s IT sector,
emerging markets growing
Tapping these more dynamic economies

are faster.
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won’t be easy, however. The goal of Indian IT
firms for the past 30 years has been to woo
clients outside India and transfer as much
of the actual work as possible back home,
where wages for highly skilled
programmers allowed them to  offer
significant cost savings. With costs in other
emerging economies equally low, Indian firms
can’t compete on price alone.

lower

To adapt, Indian companies which are
relatively unknown in these emerging nations
establishing major operations
around the world, in the process hiring
thousands of locals. Cultural conflicts arise
at times training new recruits.
In addition, IT firms also have to work extra
hard to woo business from emerging-market
companies.still unaccustomed to the concept
of  outsourcing. If successful, the future of
India’s outsourcing sector could prove as
bright as its past.

are local

while

91. What is the author trying to convey
through the phrase “India’s IT sector
is undertaking some globalization of
its own”?

(1) India has wusurped America’s
position as the leader in IT.

(2) The Indian IT sector is competing
with other emerging nations for
American business.

(3) The Indian IT sector is
considering outsourcing to
developing economies.

(4) Indian IT firms are engaging
in expanding their presence
internationally.



92. Which of the following factors made
the services offered by the Indian IT
attractive to the US?

A. Indian IT companies had
expertise in rare core operations

B. The US lacked the necessary
infrastructure and personnel to
handle mass call centre
operations

C. Inability of  other equally
cost-efficient developing countries
to comply with their strict policies

(1) None

(2) Only A

(3) Only A and B

(4) Only C

93. What has caused Indian IT firms to
change the way they conduct
business in developing countries?

(1) The volume of work being
awarded cannot be handled by
Indian firms

(2) The demands of these markets
are different from those of India’s
traditional customers

(3) Wages demanded by local
workers are far higher than what
they pay their Indian employees

(4) Stringent laws which are not
conducive to outsourcing

94. What do the NASSCOM  statistics
about Indian IT exports indicate?

(1) Drop in demand for IT services by
Europe and the US

(2) Indian IT firms charge
exorbitantly for their services

(3) India has lost out to other
emerging IT hubs

(4) The Indian IT sector should
undergo restructuring
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95.

96.

97.

98.

99.

According to the passage, which one

of the following is not a difficulty that

Indian IT firms will face in emerging

markets?

(1) Mindset resistant to outsourcing

(2) Local IT services are equally
cost-effective

(3) The US is their
outsourcing destination

(4) Conflicts arising during the
training of local talent

preferred

Which of the following is/are not true
in the context of the passage?

A. The recession severely impacted
the US but not India.

B. India is trying to depend less on
the US as a source of growth.

C. The future success of Indian IT

firms depends on emerging
markets.

(1) Only B and C

(2) Omnly A

(3) Only B

(4) All A, B and C

Which one of the following words is
most, similar in - meaning to the word
‘chiasing’ as used in the passage?

(1) Running
(2) Harassing
(3) Pestering
(4) Pursuing

Which one of the following words is
most opposite to the meaning of the
word ‘undisputed’ as used in the
passage?

(1) Challenging

(2) Doubtful

(3) Deprived

(4) Emphasized

Other than crisis, what is driving IT
companies to seek other options?

(1) The US makes more than 60% of
India’s export revenue

(2) Emerging markets
(3) None of the above
(4) Both (1) and (2)
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Directions Read
below and answer the questions that
follow (Q. Nos. 100 to 105) by selecting
the correct/most appropriate options.

the extract given

Break, Break, Break,
On thy cold gray stones, O Sea!
And I would that my tongue could utter
The thoughts that arise in me.

O, well for the fisherman’s boy,
That he shouts with his sister at play!
O, well for the sailor lad,

That he sings in his boat on the bay!

And the stately ships go on
To their haven under the hill;
But O for the touch of a vanish’d hand,

And the sound of a voice that is still!

Break, Break, Break,
At the foot of thy crags, O Sea!
But the tender grace of a day that is dead

Will never come back to me.

100. What is ‘breaking’ in ‘Break, Break,
Break’?

(1) The sea

(2) Poet’s heart

(3) The wind

(4) The sunshine through the clouds

101. The mood of the speaker in ‘Break,

Break, Break’ is—
(1) contemplative and hopeful
(2) lighthearted
3)
(4)

somber and grieved

energized
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102.

103.

104.

105.

The speaker in ‘Break, Break, Break’
observes all the following, except—

(1) children playing

(2) a sailor boy singing

(3) a lady in a tower

(4) ships coming in

The speaker of ‘Break, Break, Break’
cannot—

(1) feel
(2) see
(3) speak
(4) hear

In the first two lines of the poem, the
poet uses—

(1) simile

(2) apostrophe

(3) assonance

(4) metaphor

The phrase ‘haven under the hill’ is an
example of—

(1) simile

(2) metaphor

(3) alliteration

(4) personification



Directions : Answer the following questions

(Q. Nos.

106 to 120) by selecting the

correct/most appropriate options.

106.

107.

108.

109.

P-11/M

Which one of the following does not
come under the principle of selection
and gradation?

(1) Accuracy
(2) Availability
(3) Coverage

(4) Frequency

The phenomenon, where a single word
is associated with two or several
related meanings, is known as—

(1) homonyms

(2) homograph

(3) polysemy

(4) homonymy

“The dog lived in the garden, but!the

cat, who was smarter, lived inside the
house” is an example of—

(1) simple sentence
(2) complex compound sentence
(3) complex sentence

(4) compound sentence

If a student of language is cramming
his/her answers, then he/she would
not be able to—

(1) attempt question answers
(2) attempt vocabulary-based exercise
(3) attempt structural questions

(4) attempt creative writing
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110.

111.

112.

113.

During reading, if a student is
piercing information together as they
read a text keeping track of what is
happening, he/she is—

(1) inferring

(2) skimming

(3) paraphrasing

(4) synthesizing

Which one of the following does not
affect the intonation?

(1) Voice/Pronunciation

(2) Tone

(3) Rhythm

(4) Loudness

are involved in thinking.

(1) Image, language, imagination,
proposition

(2)mwImage, imagination, concept,
proposition

(3) Imagination, language, concept,

proposition

(4) Image, language, concept,
proposition

Language laboratory is the place

where the learners have to listen on
headphone. The language labs are set
up with a view to provide listening
activities in order to develop—

(1) analysis habit
(2) speech habit
(3) criticizing habit

(4) listening activities
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114.

Grammar-translation method is
basically used to teach—

(1) grammar
(2) foreign language
(3) rules of any language usage

(4) classical language

115. Which one of the following can be
used as a rubric for the assessment of
fluency and coherence of language?
(1) Can express with some flexibility

and appropriacy on variety of
topics

(2) Can initiate and logically develop
simple conversation on a familiar
topic

(3) Is always comprehensible, uses
appropriate intonation

(4) Demonstrates hesitation to find
words or use correct grammatical
structures

116. Which one of the following is not the
objective defined by NCF-2005 for
teaching English at upper primary
level?

(1) To negotiate their own learning
goals and evaluate their own
progress; edit, revise, review their
own work

(2) To use dictionary suitable to their
needs

(3) To be able to articulate
individual /personal responses
effectively

(4) To promote learners’ concep-
tualization of printed texts in
terms of heading, paragraph and
horizontal lines
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117.

118.

119.

120.

If you are listening to the description
of how to reach a specific location,
then you are doing—
(1) casual listening
(2) focused listening

(3) intensive listening

(4) extensive listening

If a language teacher has put the
words ‘school, teacher, headmaster,
peon’ in a group, then she is
following—

(1) lexical grouping

(2) semantic grouping

(3) phonetic grouping

(4) grammatical grouping

“At the initial stages of language
learning, may be one of the
languages for learning activities that
create the child’s awareness to the
world.” (NCF-2005)

(1) English

(2) Vernacular language
(3) Second language

(4) Hindi

Little or no attention
pronunciation in

is given to
method.

(1) audio-lingual
(2) grammar-translation
(3) CLT

(4) SLT
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TEqut : Teeff IT—IV (999 o 91 | 120) & W % IW had adff § AR I qre—I
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ey ¢ f= fou T wmw @@ ve @ T U | 92. AW % fow wed TR =erren?
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“9RA 15 3T, 1947 HI AWE AT 39 EMET &
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94, 3ITEI ol T TE IST7
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e (1) fafew smoes =<t T
(1) T (2) TR T AR ATAHAT B T
(2) T .
@) fioka st (3) T fewder firet 8
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95. FHAE i w1 [ off?
(1) W™ gEaR oty =t
(2) Tt @ g gu wew =i
(3) TS ¥R BIS!

(4) ST &

96. TH H2eh /A AT AT |
(1) Hord g s wherdn e 2 |
(2) werd W= 1 IS B
(3) wErd WIS HI qEHT 2|

(4) o v o Framat 21

97. ‘G I8 I FoE A1 TN —
(1) GeIeTm Tme & e 9|
(2) A ST & T off |
(3) et Al &1 T off|

(4) Gt 1k ot @ o |

98. ‘TaTd’ I1sg 1 TANT el W BIT?
(1) =@ar ____ fiar mm
(2) BT HI ___ BT
(3) “frewrs @ e

(4) ®figrEm ")
P-11/M

48

o : = @ T *foar & TeR @ T T
(Y7 o 99 ¥ 105) & WL /AH IUYH IW AT
faehea w1 giT|

T TR % TgH S8 AT T A1 S
g ATATS Gl HHASR Hid! g5 off

T Y TMF T BT W &

1 3qe! T

RIRC|

=T T I TS H

Tz 1o st firetrar st 2 WA e |
TR S TR i SAfeet aMi & SiTel §

@l o B &

T A9 E TWH < AT

T ST & Hehal g7l U 3+ea H

qo HIAehR &1 T =l Tl T&dT @

SE HHed 8 g S 1 S el g g
Y 3 I1g fecATdn 2 3ThT S=u

ST ag Aifafaan o

TEHER H. . o+ 7l @ SHhT Tl

ST W% Bl 58 SIS o7 Bl gl
HETS @ 91 FB ar gan

et T T I @y ST

e BT ST & BT ol TaX
Ffi-eft g A & T IO T 3T Wy

7E 9N % T 6 9 arker TE B

3R =g T O & T < Hekar 2

T ST T T

3R 3T AT U ST U Te=reh | TS ot 7
T 3T T R ST 7 ISM A S R 2
30 fodetar =&

3Eeh! AT FHE ST =0T |

99, TWAHR & HeAY ¥ Hid fohd YR & =il
3R Hehd AT I8 T&T 27

(1) wearh
(2) W=
(3) wwE
(4) @i



100.

101.

102.

103.

104.

105.

‘TgH’ AT IR W W TR 8 —

(1) @ mars

(2) &9 N SAET

(3) TR mETS

(4) e hl AETS

‘M W& SR B SRee aFl % Sd d @l
T AT & % A 3T Hl A g T8—
(1) W< STaT &

(2) < & ST 2

(3) =G B ST B

(4) ST ST 8

‘Tee’ Teg H—
(1) ‘=1 3wert &
2) T IR

(3) ‘o’ Suenf ¥
(4) @ IT R

g S B fiear g’ 6 e a—
(1) AT g7 T’

(2) F=1 &R

(3) 3@ WX

(4) v w1

“Hirasi o 91 3—

(1) TR T AT 33 AT

(2) I % WY @ ST

(3) TR % WY T ST

(4) T 1 fore | =M AT

‘Glew duar’ w1 a1 B—
(1) d@e

(2) efiafe g

(3) 3T &

(4) TE@RF ST
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gy . = fu U ywAi (W Ho 106 ¥ 120)
E/TEH UG IR AT faehed Hl Y|

106.

107.

108.

40

T HiEe % foru st © fh—
(1) shad T&F AT G 1 TG &
(2) = T 9T A -aer @ e

(3) @& W Al U IR U=k @
gH-Te

(4) =T 3feek @ 3feek e ® TIE TG

AT hael TR 1 q1eam & 481 afosh
g T J1ETH 2

(1) for@m
@) wed
(3) St

4) gH

Tk B Ud B —I8 hAT—
(1) 79T =T st <Rl gf8 | Ue oY ST Rl 2

(2) 9TST I ALATIRT I gE T UG I wIeA
BT 8

(3) T TRl SIET I B T UgH I AT HAT 2

(4) 9T T AR H G T UG H A
EZGIR
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109.

110.

111.

FEH! o T H -1 HYT I9YH Il a7
(1) e T Fa1g BHT ATTTIH 2|

(2) et H YEAT ST ITETIE 2 |

(3) Tl H 5 T T A 2|

(4) e | FHATH HT AT ATTIF ¢ |

T |91 % ST ol a=A] H—

(1) w1 fagrar & augr foswfia &6 | ad
&1 =fe

(2) ATCAHIRE IToT-S= <l oo foshfad &
W I T =AM

(3) fafaer dewt & 9ron-w=r 6t eman fospfug
L T A ST MY

(4) & AT-TA Y eqmar foenfad e W) T
1 =tE

“erg wmn et oft faft O fordt smoweRdt
2 —=8 o W TR 1§ fh—

(1) =% foerger awa
(2) % 9gd &8 I 994 @
(3) & e i oAt faaf Eedt @

(4) o R fafy & e us den gag 2
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112.

113.

114.

qer ot fori s § @)
(1) wed

(2) T

(3) *=

(4) wRH

‘g = ot FEE o @ar g, W af
forenfefat =+t wem =ifey’’—3@ FU9 & aR #
Y A & foh—

(1) Toreft pfoar =t we ffea a1ed & a1 g
L

(2) weft foremeff o S7gva oiR ufEw # &
ST g T

@)wwfer = wioar ww e W foEh ™o =
@i hl THEHT =feT

(4) STem-3tem e WweW | Ued il ufsem
e it 2

Y A & foh 3TeT-27e e 6 9wt ued &
e fire 89—

(1) w9mr = fafae deuf &y & it g
T 2

(2) SATHT-HHIA 9T HiEs o1 fierdt @
(3) foramat & s & SR foerdt 2

(4) <i@ehi % TR | SIHERT Herd @



115. T o fogm gat a8t it uem #1389 2— 118. A 3 | rea—

(1) fom <t wmo <l |weT (1) 13 I G9e | 7eg d &
(2) fomm foreer =61 TeTE & ST (2) F=T FI AHE T B

(3) forsm = wfer formmen s (3) =i 1 W % IR F T @
(4) o o wesd § fedt wmor-seT R wweE (4) ==t BT 3R & fomE §

116. Sa-am % 3 fro— 119. giag?_ﬁwmﬁww

(1) efre fommd i sten g (1) srga-eft Tl & wier

(2) SHATHOT-TEAA AT Sl @1 2 (2) s 4 afedt 1 7 B
(3) @yl el S HEl 1 @A & (@) "SR wmei ¥ wfew W R F ey W
ST

(4) forarae & TR 3R GaXar i a1 g
(4) T I P TG o T G

117. &8 % wrel # 3= wwiedl & weal & B o o1

— 120. IS AU e § givanie o= 2, A S—
(1) UTe =1 oiEe et Tt e (1) 3= T wergyfa & e

(2) TS WHTSl % g Taed i desl T o (2) 3% TG *h ST @IEH

(3) U3 i 3 3w B (3) 3= weft st @ ere wfafafy &

(4) Frenfhit @t 3z T T forward s (4) 9w afaert s
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PART—V
Language—II
ENGLISH

IMPORTANT :

Candidates should attempt questions from Part—V (Q. Nos.
121 to 150), if they have opted for ENGLISH as Language—II only.

Directions Read the passage given
below and answer the questions that
follow (Q. Nos. 121 to 129) by selecting the
correct/most appropriate options.

The strength of Indian democracy lies in its

tradition, in the fusion of the ideas of
democracy and national independence which

was characteristic of the Indian national

movement long before independence.
Although the British retained supreme
authority over India wuntil 1947, the

provincial elections of 1937 provided real

exercise in democratic practice before
national independence. During the Pacific
War, India was not overrun or seriously
invaded by the Japanese and after the War
was over, the transfer of power to™a
government of the Indian Congress Party
was a peaceful one as far as Britain was
1947,

already gone far in the Indian Civil Service

concerned. By ‘Indianization’ had
and army, so that the new government could
start with effective instruments of central
control.

After independence, however, India was faced
with two vast problems, the first, that of
ethnic diversity and the aspirations of sub-
nationalities. The Congress leadership was
more aware of the former problem than of the
second; as a new political elite which had
rebelled not only against the British Raj, but
also against India’s social order; they were
conscious of the need to initiate economic
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development and undertake social reforms,
but as nationalists who had led a struggle
against alien rule on behalf of all parts of
India, they took the cohesion of the Indian
nation too much for granted and
underestimated the centrifugal forces of
ethnic division, which were bound to be
accentuated rather than diminished as the
popular masses were more and more drawn
The

originally opposed to the idea of recognizing

into politics. Congress Party was
any division of India on a linguistic basis and
preferred to retain the old provinces of British
India  which often cut across linguistic
boundaries; it was only in response to strong
pressures®from below' that the principle of
linguistic States was conceded as the basis of
a federal Indian Union’. The rights granted to
the States created new problems for the
Central Government. The idea of making
Hindi the national language of a united India
was thwarted by the recalcitrance of the
other

languages, and the autonomy of the States

speakers  of important Indian

rendered central  economic  planning

extremely difficult.

Land reforms remained under the control of
the States and many large-scale economic
projects required a degree of cooperation
between the Central Government and one or
more of the States which it was found

impossible to achieve. Coordination of
policies was difficult even when the Congress

Party was in power both in the States and at



the Centre; when a Congress government in
Delhi was confronted with non-Congress
parties in office in the States, it became much
harder.

121. Choose the word which is most nearly
the same in meaning as the word
‘thwarted’ as used in the passage.
(1) Opposed
(2) Implemented

(3) Accepted

(4) Diverted

122. Choose the word which is most
opposite in meaning of the word
‘conceded’ as used in the passage.
(1) Criticized
(2) Rejected

(3) Denounced

(4) Withdrawn

123. Why was central economic planning
found to be difficult?

(1) Multiplicity of States and Union
Territories

(2) Lack of coordination in different
government departments

(3) Autonomy given to the States in
certain matters

(4) Lack of will in implementing land
reforms
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124. Which one of the following problems

125.

126.

was India faced with after
independence?

(1) Military attack from across the
border

(2) Lack of coordination between the
Central and State Governments

(3) Improper coordination of various
government policies

(4) Increasing the production from a
very low level

Which one of the following issues was
not appropriately realized by the
Central Government?

(1) Ethnic diversity of the people

(2) A national language for the
country

() Implementation of the formulated
policies

(4) Centre-State relations

Which, according to the passage,
can be cited as exercise in
democratic practice in India before
independence?

(1) The handing over of the power by
British to India

(2) The Indianization of the Indian
Civil Service

(3) Several democratic institutions
created by the Indian National
Congress

(4) None of the above
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127. Which one of the following statements
is mnot true in the context of the
passage?

(1) The Congress Party was originally
opposed to the idea of division of
States on linguistic basis.

(2) Economic development and social
reforms were initiated soon after
independence.

(3) The political elite in India rebelled
against the British Raj.

(4) The Congress leadership was fully
aware of the problems of ethnic
diversity in India at the time of
independence.

128. Why was the linguistic reorganization
of the States accepted?

(1) The States were not cooperating
with the Central Government.

(2) Non-Congress governments in
the States demanded such_a
reorganization of the States.

(3) No common national language
could be emerged.

(4) Strong pressures from the States
were exerted on the Central
Government to create such States.

129. India was not overrun by the

Japanese during the Pacific War
because—

(1) Japan had friendly relations with
Britain

(2) Japan was interested in India’s
freedom

(3) Japan was skeptical about its
success in War

(4) None of the above
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Directions Read the passage given
below and answer the questions that
follow (Q. Nos. 130 to 135) by selecting the
correct/most appropriate options.

“A principal fruit of friendship”, Francis
Bacon wrote in his timeless meditation on the
subject, “is the ease and discharge of the
fullness and swellings of the heart, which
passions of all kinds do cause and induce.”
For Thoreau, friendship was one of life’s great
rewards. But in today’s cultural landscape
of muddled relationships scattered across
various platforms for connecting, amidst

constant debates about whether our
Facebook ‘“riendships’ are making us more
or less happy, it pays to consider what
friendship actually is. That’s precisely what
CUNY  Philosophy  professor = Massimo
Pigliucci explores in Answers for Aristotle :
How Science and Philosophy Can Lead Us to
a More Meaningful Life (public library), which
also ‘gave us this provocative read on the

science of what we call ‘intuition’.

Philosophers and cognitive scientists agree
that friendship is an essential ingredient of
But beyond the dry

say, “voluntary

human happiness.
academic definitions—Iike,
interdependence between two persons over
time, which is intended to facilitate
socio-emotional goals of the participants, and
may involve varying types and degrees of
companionship, intimacy, affection and
mutual assistance”—lies a body of compelling
research that sheds light on how, precisely,
friendship augments happiness. The way

friendship enhances well-being, it turns out,
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has nothing to do with quantity and

everything to do with quality—researchers

confirm that it isn’t the number of friends

(or, in the case of Facebook, ‘friends’).

130. The change in the present situation
which has forced us to rethink the
concept of friendship is—

(1) Bacon and Thoreau’s theories are
no longer available to read

(2) the arrival of social media on the
scene

(3) there is more interest in the
sciences

(4) friendships are not possible in
the real world anymore, due to
over-competition

131. Friendship leads to happiness. Is it
true?

(1) Yes, researches have proven that
friendship does lead to happin€ss

(2) No, there is no relationship
between friendship and
happiness

(3) Friends cannot make each other
happy

(4) One needs to find one’s
happiness alone, with peace of
mind

132. Did Pigliucci’s book discuss intuition
too?

(1) No, it only discussed friendship
(2) It just explained science and
philosophy
(3) It discussed Aristotle’s theories
(4) Yes
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133.

134.

135.

Is the quality of friends important?

(1) No, it is important to have more
number of friends, quality does
not matter

(2) No, number of comments on
social  networking  sites  is
important, not the quality of
friends

(3) Yes, it matters

(4) No, quality comes automatically
with quantity

As per the first paragraph, what are
the debates about?

(1) They are centered around

whether our Facebook friends are
helping us become more or less

happy.

(2)=There are no debates around
friendship.

(3) The quality of comments of social
media is debatable.

(4) Thoreau and Aristotle’s thinking
is at loggerheads.

The word that is opposite in meaning
to the word ‘muddled’ is—

(1) confused
(2) chaotic
(3) ordered
(4) rumpled
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Directions : Answer the following questions

(Q. Nos.

136 to 150) by selecting the

correct/most appropriate options.

136. Positive interference is a kind of—
(1) target language
(2) foreign language
(3) pictorial language
(4) native language
137. In learning the new language,
multilingualism is—
(1) a methodology
(2) an asset
(3) an interference
(4) a burden
138. Note taking is done—
(1) during a lecture
(2) while reading a review
(3) during extensive reference work
(4) while writing an essay
P-11/M
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139.

140.

141.

142.

The method of teaching foreign
language without using the pupil’s
first language is—

(1) direct method

(2) classical method

(3) grammar-translation method
(4) old method

Two words have identical sound and
spelling, but not related in meaning.
It is known as—

(1) homophone
(2) homonymy
(3) homograph
(4) polysemy

Language of word is mnot necessary
for—

(1)

imaginative thinking

(2) conceptual thinking
(3) associative thinking
(4) perceptual thinking

Communicative Language Teaching
replaced basically—

(1) Natural Language Processing
(2) Structural Teaching

(3) Situational Language Teaching
(4) Motivational Teaching



143. Students are not organisms. Which | 147. Decorum in spoken English pertains
one of the following methods sees to—
them as a whole person?
(1) appropriate gestures
(1) CLT
@ SLT (2) clarity and purity of style

(3) silent way (3) correct grammatical usage

(4) CLL (4) voice quality
144. Writing is the ___ representation of | 148. Inquiry-based curriculum is based
speech sounds. on—
(1) alphabetical (1) deductive reasoning
(2) graphical (2) inductive reasoning

h .
(3) phonetic (3) heuristic reasoning

(4) systematic
(4) analogical reasoning

145. When a teacher uses realia to teach

vocabulary and grammar, she is— 149. Which of the following are structural
words?
(1) using role play as a learning
device (1) Auxiliaries
(2) using real objects, actions and (2) Prepositions

real-life situations

(3) using computer technology (3) Conjunctions

(4) teaching through true stories (4) All of the above

146. A poem whose first letters of each line | 150. Conventions of writing include—

spell out a word is called—
(1) story ideas
(1) alliterative

©) ) (2) proper punctuation
epic

(3) acrostic (3) imagination

(4) haiku (4) good vocabulary
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&1 foshed &t g =)

TEwqut : waeff Im—V (Y99 HWo 121 ¥ 150) % T o IW kA adfl § IfT ITH AT—II

faw : 9 fou U og="e & Y I T
(9 Fo 121 ¥ 128) % WEl/HEH IUYH ST T
frercq a1 g

T ofiel 9 Hey ditecd g | off B1 @ e
i @l ft JEa 1 [ Wit w1 e
ST, el -oieh] 3T ol 9 e gl & S
g1 & o1 Wi oS AT wA g1 W U H g
Ffert it = drg amfsrer sgawen & faars g
S | ITA-UId ¢ | 3OH YYER, TE, TN 6 g
AR Tk T e SW @ ara @ omE ¥ E, e
TSI Saettd shl SeLd @ SR 39 hfgaen d ad af
Tgd =D B ° HE Tl § T g e ol el gl
9 W ufem 1 vwrE 2| gRome g 2 R ue s
U BIE-H AN W HHd ® a1 21§99, wiefes
quel WH 9T Tk BIR-W @Ug H TR 9@ Bt g
foRe, TSIgL, ST 30T o 3 @ &, S o Sohaid hl
SITOT <A1 =Ted €, d 39 @WE & Agl Ui ¢ | 39 6 'l
g OSTe H Y eI fodfaaed & diHe H
qe 9 o foru Afea form | Sa g 3wt uee!
fifen 4 a8 % fog gamn @, a1 § uee 6 @
fIqFR o U 97| Uk foT 99 6l 319 AT Sl |
T A g A g § g aTell Hide s fifen |
ST o T form o) foret 3 wer, CEER wTw A e
dere (M) 3R Fd # wAR S9 & e R 2, =@
qe-9¢ Ted R ded Seigl o sl i dEd g
FE— ‘I, AT IR =D & a § W8 & e s’
Tt R e e, o dm o d A w1
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121.

122.

123.

124.

‘g et it T de F e 27
(1) o =fa st =g fowedt w forg @ @
(2) o wfa S 37eft qU o B

(3) o Fa1 wfa e v & for 8
(4) & o i S AT fave W o ® §

T ¥ 7 R e e
(1) g

(@) =

(3) werm

%

(4) _H1eTe

“Ffaest w1 wer @ T 2 9= W
srfasm 3—

(1) Higaret ¥ wss ufym & wwifad 2

(2) Hiaarett # wsg ufem & garfead 72 F1

(3) Hfararedt =i srfireat afem & qanfaa 2
(4) et =1 TeR1eH qfEm @ g 21

AT & YR W d1sT T fHepr miwor &
w2

(1) Torami o it =
(2) wferrt 3R Asg
(3) HfT 3T <iEehi 1
(4) ToraMT 3R AU



125. 3738 o TGN W FA15Y foh ISI9 id o A&H
TG 1 96 2|

(1) ai-ursman
(2) Fai-ght
(3) i 3R Tz

(4) -

126. TS W Ao & 5T 8 arerd 2—
(1) ST & 9 SIgara T AT
(2) ST FA 9T Sgard 3T

(3) S TR W = 3

(4) S TR W = 7 3

127. ‘‘z8 W ufym w1 a9E =) 9 a—
(1) GeeameH
(2) faamam==

(3) HeAaT=h

(4) HegaTEh

128. ‘Trefior, TSR, Far e weg T—
(1) 5=

(2) e

(3) fergroor

(4) fopar
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e @ e fow U argeRe @l Yo @ MU Ul
(Y Fo 129 ¥ 135) & HEl/AEH IUYH I AT
farere =1 g

HISHAUSIAl 32l o agd WiHE RIeuswr 24| o 921 g
afdat sAma 91 <t 3 g1 6 o g g gl e
o 81 I8 e o6 § gfd Fal Teal | 98 Hid i ued
U & e ¥ off, #9 @1 fah weer w1 wierq few g
foom 4 gfd wehe & wi! @ foeneff @ e ufeE 9H
U, @-9F 84 § a8 AT 2 {379 1 M 2| 37T I8
T@-9H Y B? FEd T, Yo I AAlgeh 31 I Oy A
HET STt B 56 geprer Y foor ergwa At ®, 9v el
foarg &t 2, 90 T W @’ € 9y f, evE
g 4 €l ITdr| 9 a9 Yke el 8, 9 § -
FieA-FHH HLAT T | FH HLd-HLd GIeohel I el H HTHAT
AT § q9 B0 w9, T Wke, W T A g 0T Fd 2l
w-gd ¥ FH FA g S W@ W A I DA 7, T
T foren B zafory fian & 9 s wehd, afcw 3t @
3T Bl 8 3w 39 ufwn § e e e § wee
Fal &l ST N F AFHG B §, 36 Upfga 29 A
T &9 $© Al R Gohd | WY SR ¥ WIE-TH S,
RIS 3T, gehrer hil a1 = Tehd 2

129. T=88 o YR T HaT S Fehal & foh—
(1) farem &1 dva @
(2) forem o dva T @
(3) Tore former & fierdt @
(4) Tarem oftem & firerdt &

130. fY&me &1 wm 28—
(1) formeff = @ @ uftfaa e
(2) foremeff =61 gERi @ aftfed T
(3) Termeff =t fort @ ufifera s
(4) fermeff =t freu-sven @ uftfea wwmn

I PTO



131.

132.

133.

134.

135.

@ w TR _ H gl g

(1) Tt

(2)

(3) =

(4) I

Fg=dE H WR-UHl o, FRE wE A 3eem
ST & o foreres o1 % s hi—
(1) 9ISE-9 9 1 8

(2) b s g

(3) 3fua AR & &

(4) ST faam §

.
(1) FooeM e @

(2) I BT B

(3) forror gran 2

(4) T B @

I w gR qiaal I ) 9 #§ gl
—

(1) 4

(2) =<t

(3) ¥

(4) Hfdat

“Sigha’ e v 2
(1) =
(2) f
(3) @

(4) 3
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T /T8 SUYH I AT ey i g

136.

137.

138.

60

I WA T W 9 HeH-Ee O
I —

(1) =ameRr o |eft fomi ot shew e

(2) wifee i T e g fqenet f @

(3) &t v o wmy gfoem® & IR | S

(4) T i FrEmeE THid Sl TEEE SR 36
forgeteT e

et o s % ged § werm o1e A ued ard

I ¥ 98 Imfea 7 T ag—

(1) - e - g et & 9= 9%

(2)pfes W % HEE 3R AhIREAl P T
%

(3) fafirar wewf & f&ft v =1 wuTet Wi
%

(4) TCTTILT STST T JITe JAT H Tk

&t e i -faram & forg wrfaert 2—
(1) 9T <l ITST-T&deh shl IqcTHdl

(2) Tgg ATT-afersT i JucTsHal

(3) &t s <t ferfaa wdven

(4) T =T GYA- A=A WHIT 1 ITASEIAT



139. 3= MAfh TR W & 9o o e § @99 | 142. 3Thad &SI % foTu g =nfew |
HEaqol e—

(1) Hies o weg
(1) &t 9 % =R 6 SRR

(2) foraT Hian =t At
(2) &t v it st i wug 3w

(3) TER e
(3) Tedt s & wifecasrl it e

(4) w9 AT SR
(4) Tedt s it A St Y SR

143. TF-7=7 W H YA 99 I g 8 S

140. 99T 315 & Hae § -9 %94 Tel 27 TH—
(1) ¥€ ¥esl g 2| (1) 39 9gd Tedl 9 que Th
(2) I WA BT 2 (2) 39 T AT Sifgeh gfafw < v
(3) =8 HfeT g 2| (8) . 3TEhT THT T STIHIOT L Teh
(4) =8 i@ A 2| (4) 3Tk s A YA R A Toh

141. 3= the T R fafie fawat @« smenfa w6t | 144, 3= mafies @ w fofie sew & foe for s

! T=l- e § el s 1 37T 2— e e e # e el 2 —
(1) st =t fafera fomat it St & (1) STt wXeqor =1 fommoe s
(2) ==t =l Tty wyfrt @ aftfaa s (2) IR Y& W FARM fofa
(3) 31 fowat =1 € | Heg (3) 3Tt FET 1 27 fore
(4) @1 it o TR (4) s fora
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145. 3= Wi T W G 9T o SThe i Hel | 148. SgTives e § Sl shi Hmai—

FHSR fog 2—
(1) 5ga R wwen g, e i amgm T2
(1) fore # U 3rsg geduTet HEn 2
(2) <@ # drfeherdT w1 FHE (2) TEEH % ®9 § TEHTA I ST Tkl ©
(3) WTST T GSHTHS T (3) TH Wfed THET B, W I GHEATE el

FLAl 2

(4) TEHAME IaTEEt A T
(4) T&t s <t wmeqrett & SR & AT =Ry

146. s 3R fafu & sfra—
149. 3= MUHF TR T AR YgH i SNHT Tgid

o
(1) ush fifera waie gran @

(1) ST & Tt <t 3R 5 §
(2) 1 ffera dewr 7 e

(2) zarewr ¥ fm At 3R S 2
(3) Ueh difcheh HelEl BT B

(3) T | 3=TE Hl AR S @
(4) I HaY B & AL 2

(4) TR I UTST-gEAH W hisd &d &

147. 3= WAl T W & 9o 1 3ehe

T AT T oA fohg T Y 150. 3iafifed 9Ty e 1 GEg % W1 2
(1) fafaa wher (1) =reeht

(2) e aden (2) Tt

(3) IR (3) ferm

(4) St=-geh (4) SR
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SPACE FOR ROUGH WORK
IF %M & fou e

addazyi

I3\

* ok ok
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Frafafaa e e a g .

1.

10.

11.

12.
13.

14.

15.

o yer @ fafae ueat & S fou S 2 3Ee avi ahen
fecreRt 7 foham T 2, TSR 31T el 1 ST 9 v e o
e |

eI I % for U e ww faemedt # @ wedt 3w F forw
OMR IW-97 & UB-2 W %hadl Tk Ja &l & [ @
HTA /A FTAUTSE U7 T 9 | Teh IR I 3ATehd T o &1
3 FEAT A2 ST Hehl 2 |

witemeff gifaa st o 30 IT-97 =1 71 7 91 v 39 W
w1E 31 T 7 @ | wftemeff ST ST IW-u |
Frerifia wom & afafes 3= 7 ford |

T giEenl U9 IT-T5 1 A SR L, FTTh forelt
ot aftfesfa & (SFaa wien gfeqet Td IW-v7 & Hohd AT
T H e oh et o1 sieet) gudt e gieden suasd
& g S|

wlie gieaent /Ia-va § fou o wien gicaen TR 3 @@
=1 ool Wt ades @ wifed-w 7 T

OMR 3IW-T3 § Hifed STHahRT ! Th A 97l | 36feay
g off gEAT 31 7 VIS 3R I8 Yowr-uA § & T = °
famm 7 gt =TT

wiieeff T Thier gt /et W Jav-ua o fam foreft ger
& e -Tmt, gfd o1 ewafiad, TS 6 ufEt, O,
TS BIF, Sk SUshLol AT fereft 3171 T =t areaft
1 ST AT 3TN A T SgEfd T 2l

HiaTEd B, SdR =R et (fee o sraeen 7 off) o)
=1 ifsifere g adiE it /shed H T T ST e
AT 1 UTe 7 B W 39 e § S |et R e
T ST 3T 3k {o%g, Hriane! shi Surt, wieln & hid
wfed |

TR ST T e adreeff, fdteten ot SToe Srere-v fawmd |
ez, refteren o Frlteren o fomiy srgwfa <6 fomm ond adtemeff
ST TAH F BT |

i ffters o1 219 S-A fiu fomn wa erfsd-m @
oI gEaTer T fomm wieneff udter e /et 721 S1E | Afg
Toret wveqroff & ot s ETfoR-va W gwaner € e, 7w
AT ST foh 38 IT- T T @ 311 T8 T ared
1 HIHAT AT ST | alterteff sTo=t g g1er o T[S
foma srfvdt-ux ® 2w U Tu™ W srEva @)

Sl T+eh | TE=TeTd UfeheTeh ol UM afid 2 |

e BTt /el B AR o for qdvenneff udfteqor ween & gt
et wa fafaemt gro fafia 21 srgfoa wneri & asft e
1 St adtegor wer o forermt ud fafeemt % e g
foreft e & wdter gftdent 3R IW-TF 1 RIE AT T
T H|

Tiien wre R W, udenei sfe/we St | ud
SW-ua fieress i erava wiu | gdtenef erga @1y 39
giter gicassT &1 & AT g 1

READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

1.

10.

11.

12.
13.

14.

15.

The manner in which the different questions are
to be answered has been explained in the Test
Booklet which you should read carefully before
actually answering the questions.

Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Black/Blue Ballpoint Pen on
Side-2 of the OMR Answer Sheet. The answer once
marked is not liable to be changed.

The candidates should ensure that the Answer
Sheet is not folded. Do not make any stray marks
on the Answer Sheet. Do not write your Roll No.
anywhere else except in the specified space in the
Answer Sheet.

Handle the Test Booklet and Answer Sheet with
care, as under no circumstances (except for
discrepancy in Test Booklet Code or Number and
Answer Sheet Code or Number), another set will be
provided.

The candidates will write the correct Test Booklet
Code and Number as given in the Test
Booklet/Answer Sheet in the Attendance Sheet.
A machine will read the coded information in the
OMR Answer Sheet. Hence, no information should
be left incomplete and it should not be different
from the information given in the Admit Card.
Candidates are not allowed to carry any textual
material, printed or written, bits of papers, pager,
mobile phone, electronic device or any other
material except the Admit Card inside the
Examination Hall/Room.

Mobile phones, wireless communication devices
(even in switched off mode) and the other banned
items should not be brought in the Examination
Hall/Room. Failing to comply with this instruction,
it will be,considered as using unfair means in the
examination and action will be taken against them
including cancellation of examination.

Each candidate must show on demand his/her
Admit Card to the Invigilator.

No candidate, without special permission of the
Centre Superintendent or Invigilator, should leave
his/her seat.

The candidates should not leave the Examination
Hall/Room without handing over their Answer
Sheet to the Invigilator on duty and sign the
Attendance Sheet twice. Cases where a candidate
has not signed the Attendance Sheet second time
will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means
case. The candidates are also required to put
their left hand THUMB impression in the space
provided in the Attendance Sheet.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by all Rules and
Regulations of the Examining Body with regard to
their conduct in the Examination Hall/Room. All
cases of unfair means will be dealt with as per
Rules and Regulations of the Examining Body.
No part of the Test Booklet and Answer Sheet shall
be detached under any circumstances.

On completion of the test, the candidate must
hand over the Answer Sheet to the Invigilator
in the Hall/Room. The candidates are allowed
to take away this Test Booklet with them.
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